CHAPTER 11

Individual covariates

In most of the analyses we’ve looked at so far in this book, we've partitioned variation in one or
more parameters among different levels of what are commonly referred to as ‘classification” factors.
For example, comparing survival probabilities between male and female individuals (where ‘sex’ is
the classification factor), good and poor breeding colonies (where ‘colony’ is the classification factor),
among age-classes, and so on.

However, in many cases, there may be one or more factors which you might think are important
determinants of variation among parameters which do not have natural ‘classification” levels. For
example, consider body size. It is often hypothesized that survival of individuals may be significantly
influenced by individual differences in body size. While it is possible to take individuals and classify
them as ‘large’, ‘medium’ or ‘small” (based on some criterion), such classifications are artificial, and
arbitrary. For a continuous covariate such as body size, there are an infinite number of possible
classification levels you might create. And, your results may depend upon how many classification
levels for body size (or some other continuous factor) you use, and exactly where these levels fall.

As such, it would be preferable to use the real, continuous values for body size in your analysis — each
individual in the data set has a particular body size, so you want to constrain the estimates of the various
parameters in your model to be functions of one or more continuous individual covariates. The use of
the word ‘covariate’ might tweak some memory cells — think “analysis of covariance’ (ANCOVA), which
looks at the influence of one or more continuous covariates on some response variable, conditional on
one or more classification variables. For example, suppose you have measured the resting pulse rate
for male and female children in a given classroom. You believe that pulse rate is influenced by the sex
of the individual, and their body weight. So, you might set up a linear model where SEX is entered as
a classification variable (with 2 levels: male and female), and WEIGHT is entered as a continuous linear
covariate. You might also include an interaction term between SEX and WEIGHT.

In analysis of data from marked individuals, you essentially do much the same thing. Of course,
there are a couple of ‘extra steps” in the process, but essentially, you use the same mechanics for model
building and model selection we’ve already considered elsewhere in the book. The major differences
concern: data formatting, modifying the design matrix, and reconstituting parameter estimates. We will
introduce the basic ideas with a series of worked examples.

Before we begin, though, it is important that you fully understand the semantic and functional
distinction between an ‘individual covariate’ (a covariate that applies to that individual; e.g., body size at
birth), and an ‘environmental’ or ‘group’ covariate (a covariate which applies to all individuals encountered
ata particular casion or over a particular interval; e.g., weather). Further, we need to distinguish between
a ‘fixed” individual covariate (i.e., a covariate that does not change over time), and a ‘time-varying
covariate (which is self-explanatory).

’
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11.1. ML estimation and individual covariates

Conceptually, the idea behind modeling survival or recapture (or any other parameter) as a function
of an individual covariate isn't particularly difficult. It stems from the realization that it is possible to
write the likelihood as a product of individual ‘contributions’ to the overall likelihood. Consider the
following example. Suppose you have 8 individuals, which you mark and release. You go out next year,
and find 3 of them alive (we’ll ignore issues of encounter probability and so forth for the moment). We
know from Chapter 1 that the maximum likelihood estimate of the survival probability S is simply
(3/8) = 0.375. More formally, the (binomial) likelihood of observing 3 survivors out of 8 individuals
marked and released is given as (where Y = 3, and N = 8):

£(S | data) = (I;])Sy(l —S)NY,

Or, dropping the binomial probability term (which is a constant, and not a function of the parameter
—see Chapter 1):

£(S | data) o« S*(1 - SN,
If we let Q = (1 — S), then we could re-write this likelihood as
£(S | data) o SYQNTY = $°Q°.

We could rewrite this likelihood expression as

8
5; 1_[ Qi

3
i=1 i=4

£(S | data) « $°Q° = (5.5.5).(Q.0.0.Q.Q) =

Alternatively, we might define a variable a4, which we use to indicate whether or not the animal is
found alive (2 = 1) or dead (a = 0). Thus, we could write the likelihood for the i™ individual as

8
L(S | N, {ay, a,,. ..,{18}) oc 1_[ San(l_”i)‘
i=1

Try it and confirm this is correct. Let S = the MLE = 0.375. Then, (0.375)3(1 - 0.375)5 = 0.00503, which
is equivalent to

(0.375)1(0.625)7Y(0.375)1(0.625)11(0.375) 1 (0.625) 17V
x(0.375)°(0.625)179(0.375)°(0.625)1~(0.375)°(0.625) 1 (0.375)°(0.625) 1 (0.375)°(0.625) ")

= (0.05273) x (0.09537)

= 0.00503.

In each of these 3 forms of the likelihood the individual ‘fate” has its own probability term (and
the likelihood is simply the product of these individual probabilities). Written in this way there is
a straightforward and perhaps somewhat obvious way to introduce individual covariates into the
likelihood. All we need to do to model the survival probability of the individuals is to express the
survival probability of each individual S; as some function of an individual covariate X;.
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For example, we could use

~ ePrHha(Xi) 1
! 1+ e(ﬁﬁﬁz(xi)) 1+ e_(ﬁ1+ﬁ2(xi)) ’

with logit link function

S.
ln(1 —zSi) =By + Po(X)).
Then, we simply substitute this expression for S; into
8
£(S | N,{ay,a,...,ag}) « n stQU-a),
i=1

Written this way, the MLE’s for the ; and 8, (intercept and slope, respectively) become the focus of
the estimation.

Pretty slick, eh? Well, it is, with one caveat. The likelihood expression gets ‘really ugly’ to write down.
Itbecomes a very long, cumbersome expression (which fortunately MARK handles for us), and because
of the way itis constructed, numerically deriving the estimates takes somewhat longer than it does when
the likelihood is not constructed from individuals. Also, there are a couple of things to keep in mind.
First, it is important to realize that the survival probabilities are replaced by a logistic submodel of the
individual covariate(s). Conceptually, then, every animal i has its own survival probability, and this may
be related to the covariate. During the analysis, the covariate of the i™ animal must correspond to the
survival probability of that animal. MARK handles this, and it is this sort of ‘book-keeping’ that slows
down the estimation (relative to analyses that don’t include individual covariates).

OK - enough background. Let’s look at some examples, and how you handle individual covariates
in MARK.

11.2. Example 1 — normalizing selection on body weight

Consider the following example. You believe that the survival probability of some small bird is a function
of the mass of the bird at the time it was marked. However, you believe that there might be normalizing
selection on body mass, such that there is a penalty for being either ‘too light” or “too heavy’, relative to
some ‘optimal” body mass.

Now, a key assumption — we're going to assume that survival probability for each individual bird is
potentially influenced by the mass of the bird at the time it was first marked and released. Now, you
might be saying to yourself ‘hmmm, but body mass is likely to change from year to year?’. True — and
this is an important point to keep in mind — we assume that the individual covariate (in this case, body
mass) is ‘fixed” over the lifetime of the individual bird. We will consider using ‘temporally variable
covariates’ later on. For now, we will assume that the mass of the bird when it is marked and released
is the important factor.

We simulated some capture-recapture data, according to the following function relating survival
probability (@) to body mass (mass), according to the following equation:

@ = —0.039 + 0.0107(mass) — 0.000045(mass?).
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To help visualize how survival varies as a function of body mass, based on this equation, consider
the following figure:
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We see that survival first rises with increasing body mass, then eventually declines — this represents
‘normalizing” selection, since survival is ‘maximized’ for birds that are neither too heavy nor too light
(right about now, some of the hard core evolutionary ecologists among you may be rolling your eyes,
but it is a reasonable simplification. . .).

We simulated data for 8 occasions, 500 newly marked birds per release cohort (i.e., per year). We
also made our life simple (for this example) by assuming that survival probability does not vary as a
function of time, only body mass. We set recapture probability to be 0.7 for all birds, whereas survival
probability was set as a function of a randomly generated body mass (with mean of 110 mass units).
We'll deal with the complications of time-variation in a later example.

Here is a ‘piece’ of the simulated data set (contained in indcov1.inp):

11111111 1 120.71 14570.24;
11111110 1  86.26  7440.76;
11111110 1 118.23 13978.42;
11111110 1 72.98 5325.47;
11111110 1 101.52 10305.69;

Several things to note. First, and perhaps obviously, in order to use individual covariate data, you
must include the encounter history for each individual in the data file — you can’t summarize your data
by calculating the frequency of each encounter history as you may have done earlier (see Chapter 2 for
the basic concepts if you're unsure). Each line of the . INP file contains an individual encounter history.
The encounter history is followed immediately by a single digit ‘1’, to indicate that the frequency of this
individual history is 1 (or, that each line of data in the . INP file corresponds to 1 individual).
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What about the next 2 columns? Consider the following line from the data file:
11111111 1 120.71 14570.24;

The values 120.71 and 14,570.24 refer to the mass of this individual bird (i.e.,mass in the equation),and
the square of the mass (i.e., mass? in the equation = 14,570.24 = 120.712). Now, in this example, we’ve
‘hard-coded’ the value of the square of body mass right in the . INP file. While this may, on occasion, be
convenient, we’ll see later on that there are situations where you don’t want to do this, where it will be
preferable to let MARK ‘handle the calculation of the covariate functions (squaring mass, in this case)
for you'.

So, for each bird, we have the encounter history, the number ‘1 to indicate 1 bird per history, and then
one or more columns of ‘covariates’ — these are the individual values for each bird — in this example,
corresponding to mass and the square of the mass, respectively.

Finally, what about missing values? Suppose you have individual covariate data for some, but not all
of the individuals in your data set. Well, unfortunately, there is no simple way to handle missing values.
You can either (i) use the mean value of the covariate, calculated among all the other individuals in the
data set, in place of the missing value, or (ii) discard the individual from the data set. Or, alternatively, you
can discretize the covariates, and use a multi-state approach. The general problem of missing covariates,
time-varying covariates and so forth is discussed later in this chapter (section 11.6).

That’s about it really, as far as data formatting goes. The next step involves bring these data into
MARK, and specifying which covariates you want to use in your analyses, and how.

11.2.1. Specifying covariate data in MARK

Start program MARK, and begin a new project — ‘recaptures only’. We will use the live encounter
data contained in indcovl.inp — 8 occasions, ‘standard’ mark-recapture ‘LLLLL’ format. The encounter
data for each individual are accompanied by 2 individual covariates for each individual, which we’ll
call mass (for mass) and mass2 (for massz).

At this point, we need to ‘tell’ MARK we have 2 individual covariates (below):

Encounter occasions: [ g i‘ Set Time Intervals Default Time Intervals Used
Attribute groups: [ 4 i‘ Enter Group Labels Default Group Labels Used
Individual covarates: | 2 ﬁ Enter Ind. Cov. Names | Default Ind. Cov. Names Used
Strata: j Default Strata Names Lsed
Moctures: :‘

Hep | Cancel | oK |

Next, we want to give the covariates some ‘meaningful’ names, so we click the ‘Enter Ind. Cov.
Names’ button. We'll use mass and mass2 to refer to body mass and body mass-squared, respectively
(shown at the top of the next page). That’s it! From here on, we refer to the covariates in our analyses
by using the assigned labels mass and mass2.
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Individual Covariate Names
Enter names to identify each covariate oK Cancel Default Paste Help |

1 |ITIESS

2 |massz

11.2.2. Executing the analysis

In this example, we simulated data with a constant survival and recapture probability over time. Thus,
for our starting model, we will modify the model structure to reflect this — in other words, we'll start by
fitting model {¢, p.}. Go ahead and set up this model using your preferred method (by either modifying
the PIMs directly, or modifying the PIM chart), and run it. When you run MARK, you’ll notice that it
seems to take a bitlonger to start the analysis. This is a result of the fact that this is a fairly large simulated
data set, and that you are not using summary encounter histories — because we’ve told MARK that the
data file contains individual covariates, MARK will build the likelihood piece by piece — or, rather,
individual by individual. This process takes somewhat longer than building the likelihood from data
summarized over individuals.

Add the results to the browser. Let’s have a look at the 2 reconstituted parameter estimates:

& mrk8263z.tmp - Notepad g@

File Edit Format View Help

individual covariates - MARK book

Real Function Parameters of {ph1{.Jp(.) - no ind cov}
95% Confidence Interwval

Parameter Estimate Standard Error Lower Upper
1:Phi 0.5682660 0.0073151 0.5538750 0.5825426
2:p 0.7009423 0.0113345 0.6782650 0.7226747
& 1l [2]

7

Start with parameter 2 — the recapture probability. The estimate of 0.7009 is very close to the ‘true
value of p = 0.70 used in simulating the data (not surprising they should be so close given the size of
the data set). What about the first parameter estimate — ¢ = 0.568? This is the estimate of the apparent
survival probability assuming (i) no time variation, and (ii) all individuals are the same. Clearly, it is
this second assumption which is most important here, since we know (in this case) that all individuals
in this data set are not the same — there is heterogeneity among individuals in survival probability, as
a function of individual differences in body mass.

Thus, we expect that a model which accounts for this heterogeneity will fit significantly better than a
model which ignores it. Where does the value of 0.568 come from? Remember that the actual probability
of survival was set in the simulation to be a function of body mass:

@ = —0.039 + 0.0107(mass) — 0.000045(mass?).

The data were simulated using a normal distribution with mean 110 mass units, and a standard
deviation of 25. Thus, the value of 0.568 is the mean survival probability expected given the normal
distribution of body mass values, and the function relating survival to body mass. However, if you put
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the value of "110” into this equation, you get an estimate of survival of ¢ = 0.594, which is somewhat
different from the reported value of ¢ = 0.568. Why? Because what MARK is reporting is the mean
survival of the data set as a whole: if you were to take all of the mass data in the input file, run each
individual value for mass through the preceding equation, and take the mean of all of the generated
values of ¢, you would getan estimate of ¢ = 0.566, which is ~identical to the value reported by MARK."

But, back to the question at hand — as suggested, we expect a model which incorporates individual
covariates (body mass) to fit better than a model which ignores these differences. How do we go about
fitting models with covariates? Simple — we include the individual covariate(s) in the design matrix.

In fact, including individual covariates in the design matrix is often straightforward. For our present
example, we're effectively performing a multiple regression analysis. We want to take our starting
model {¢, p.} and constrain the estimates of survival to be functions of body mass, and (if we believe
that normalizing selection is operating), the square of body mass. These were the 2 covariates contained
in the input file (mass and massz2, respectively).

To fit a model with both mass and mass2, we need to modify the design matrix for our starting model.
We can do this in several ways, but as a test of your understanding of the design matrix (discussed
at length in Chapter 6), we'll consider it the following way. Our starting model is model {¢, p.}. One
parameter for survival and recapture probability, respectively. Thus, the starting design matrix will be
a (2 x 2) matrix. We want to modify this starting model to now include terms for mass and mass2. We
want to constrain survival probability to be a function of both of these covariates.

Remembering what you know about linear models and design matrices, you should recall that this
means an intercept term, and one term (‘slope’) formass and massz2, respectively. Thus, 3 terms in total, or,
more specifically, 3 columns in the design matrix for survival, and 1 column for the recapture probability.

Let’s look at how to do this. Select ‘design matrix | reduced’.

File Delete Order OQutput Refrieve PIM Design Run Simulations Tests Adjustments Window Help
Full
Reduced
Identity %

This will spawn a window asking you to specify the number of covariate columns you want.
Translation — how many total columns do you want in your design matrix. As noted above, we want 4
columns — 3 to specify the survival parameter, and 1 to specify the encounter probability (since this is
the parameter structure specified by the PIMs we created when we started). So, enter “4".

Input Requested

Enter number of covariate columns in the design matoe: | 4 :I

Help Cancel | ok |

* This issue relates to Jensen’s inequality, which says that the expected value of the function is not (in general) equal to the function
of the expected value, E[f(x)] # f(E[x]). If you take the average of the data and then apply the function to it, you'll get a
different (usually wrong, i.e., not what you meant) answer than if you apply the function to each data value first and then take
the average of the values. This is exactly what has happened here - MARK reports mean survival, and not survival of the mean.
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Once you have entered the number of covariate columns you want in the design matrix, and clicked
the ‘OK’ button, you'll be presented with an ‘empty”’ (4 X 2) design matrix.

" Design Matrix Specificatio... |~ |03

o> @ @ @ A5
Design Matrx Specification (B = Beta)

B1 B2 Pam B3 B4

0 1] 1:Phi |O 0

0 1] 2p 0 0

To start with, let’'s move the grey ‘Parm” column one column to the right, just to make things a bit
clearer.

"1 Design Matrix Specificatio... |~ | (023

el @] o @ A4
Design Matrix Specification (B = Beta)

B1 B2 B3 Pam B4
0 1] 0 1:Phi (O

1] 1] 0 2p 0

Now, all we need to do is add the appropriate values to the appropriate cells of the design matrix.
If you remember any of the details from Chapter 6, you might at this moment be thinking in terms of
‘0" and ‘1" dummy variables. Well, you're not far off. We do more or less the same thing here, with one

twist — we use the names of the covariates explicitly, rather than dummy variables, for those columns
corresponding to the covariates.

Let’s start with the probability of survival. We have 3 columns in the design matrix to specify survival:
1 for the intercept, and 1 each for the covariates mass and massz2, respectively. For the intercept, we enter
a ‘1" in the first cell of the first column. However, for the 2 covariate columns (columns 2 and 3), we enter
the labels we assigned to the covariates, mass and mass2. For the recapture parameter, we simply enter
a ‘1’ in the lower right-hand corner. The completed design matrix for our model is shown below:

" Design Matrix Specificatio... |~ |03
e|>m| @] @ @ A 4
Design Matrx Specification (B = Beta)

Pam B4
EEEEN 1:Phi

mass

That’s it! Go ahead and run this model. When you click on the ‘Run’ icon, you'll be presented with
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the ‘Setup Numerical Estimation Run’ window. We need to give our model a title. We'll use ‘phi (mass
mass2)p(.)’ for the model specified by this design matrix. Again, notice that the sin link is no longer
available — recall from Chapter 6 that the sin link is available only when the identity design matrix is
used. The new ‘default’ is the logit link. We’ll go ahead and use this particular link function.

Now, before we run the model, the first ‘complication’ of modeling individual covariates. On the right
hand side of the ‘Setup Numerical Estimation Run’window, you'llnotice a list of various options. Two
of these options refer to ‘standardizing’ — the first, refers to standardizing the individual covariates. The
second, specifies that you do not want to standardize the design matrix. These two ‘standardization’
check boxes are followed by a nested list of suboptions (which have to do with how the real parameter
estimates from the individual covariates are presented — more on this later).

-

Setup Numerical Estimation Run

Mumerical Estimation Options:
[~ List Data

Title for Analyses |nomailizing selection

Madel Name [{phi( ()}

Link Function

Fix Parameters Mo Parameters Fied

[ Provide initial parameter estimates
[ Use At Opt. Method

[~ Profile Likelihood CI

[~ Set digits in estimates

J [~ Set function evaluations

Var. Estimation
{* Logit  B=s=an [ Set number of parameters
» Lol [ Standardize Individual Covariates
(¢ ZndPart [ Do not standardize design matrix
(" Cloglog
r Log Real Par. Estimates from Individual Covariates
™ First Encounter History Covariz
" Identi MCMC Estimati
ny H matien {* iMean Individual Covarate Vali
(" Absolute ™ Userspecified Covanate Value
" Pam-Specific

Help Cancel Fun | [ OKto Fun |

The first check box (standardize individual covariates) essentially causes MARK to ‘z-transform’ your
individual covariates. In other words, take the value of the covariate for some individual, subtract from it
the mean value of that covariate (calculated over all individuals), and divide by the standard deviation of
the distribution of that covariate (again, calculated over all individuals). The end result is a distribution
for the transformed covariate which has a mean of 0.0, and a standard deviation of 1.0, with individual
transformed values ranging from approximately (-3 — +3) (depending on the distribution of the
individual data). One reason to standardize individual covariates in this way is to make all of your
covariates have the same mean and variance, which can be useful for some purposes.

Another reason is as an ad hoc method for accommodating any missing values in your data — if you use
the z-transform standardization, the mean of the covariates over all individuals is 0, and thus missing
data could simply be coded with 0 (which, again, is the mean of the transformed distribution). If you
compute the mean of the non-missing values of an individual covariate, and then scale the non-missing
values to have a mean of zero, the missing values can be included in the analysis as zero values, and
will not affect the slope of the estimated . However, this ‘trick” is not advisable for a covariate with
a large percentage of missing values because you will have little to no power. [The issue of ‘missing
values’ is treated more generally in a later section of this chapter.] While these seem fairly reasonable
and innocuous reasons to use this standardization option, there are several reasons to be very careful
when using this option, as discussed in the following -sidebar-. In fact, it is because of some of these
complications that the default condition for this standardization option is “off’.
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What about the second option — ‘Do not standardize (the) design matrix’? As noted in the
MARK help file, it is often helpful to scale the values of the covariates to ensure that the numerical
optimization algorithm finds the correct parameter estimates. The current version of MARK defaults
to scaling your covariate data for you automatically (without you even being aware of it). This ‘automatic
scaling’ is done by determining the maximum absolute value of the covariates, and then dividing each
covariate by this value. This results in each column scaled to between -1 and 1. This internal scaling
is purely for purposes of ensuring the success of the numerical optimization — the parameter values
reported by MARK (i.e., in the output that you see) are ‘back-transformed’ to the original scale. There
may be reasons you don’t want MARK to perform this ‘internal standardization’ — if so, you simply
check the ‘Do not standardize (the) design matrix’ button.

begin sidebar

when to standardize — careful!

While using the z-transform standardization on your individual covariates may appear reasonable, or
at the least, innocuous, you do need to think carefully about when, and how, to standardize individual
covariates. For example, when you specify a model with a common intercept but 2 or more slopes for
the individual covariate, and instruct MARK to standardize the individual covariate, you will get a
different value of the deviance than from the model run with unstandardized individual covariates.

This behavior is because the centering effect of the standardization method affects the intercept
differently depending on the value of the slope parameter. The effect is caused by the nonlinearity
of the logit link function. You get the same effect if you standardize variables in a logistic regression,
and run them with a common intercept. The result is that the estimates are not scale independent,
but depend on how much centering is performed by subtracting the mean value. In other words,
situations can arise where the real parameter estimates and the model’s AIC differ between runs
using the standardized covariates and the unstandardized covariates. This situation arises because
the z-transformation affects both the slope and intercept of the model. For example, with a logit link
function and the covariate xq,

logit(S) = By + B, (x — 1) /SD;
= (B1 = B2%1/SDy) + (B2/SD1)xq,

where the intercept is the quantity shown in the first set of brackets, and the second bracket is the
slope. This result shows the conversion between the p parameter estimates for the standardized
covariate and the p parameter estimates for the untransformed covariate, i.e., the intercept for the
untransformed analysis would correspond to the quantity in the first set of brackets, and the slope for
the untransformed analysis would correspond to the quantity in the second set of brackets. All well and
good so far, because the model with a standardized covariate and the model with the unstandardized
covariate will result in identical models with identical AIC, values.

However, now consider the case where we have 2 groups, and want to build a model with different
slope parameters for each group’s individual covariate values, buta common intercept. In this example,
xq and x, are considered to be the same individual covariate, each standardized to the overall mean
and SD, but with values specific to group 1 (x;) or group 2 (x,). The unstandardized model would look
like:

Group 1: logit(S;) = 1 + frx;
Group 2: logit(S,) = f1 + f3x,
Unfortunately, when the individual covariates are standardized, the result is:
Group 1: logit(Sy) = (Bg — p1X%,/SD) + (B1/SD)x;
Group 2:10git(Sy) = (Bg = B2¥2/SD) + (B2/SD)x;
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In this case, the intercepts for the 2 groups are no longer the same with the standardized covariates,
resulting in a different model with a different AIC, value than for the unstandardized case. This
difference causes the AIC values for the 2 models to differ because the real parameter estimates differ
between the 2 models.

An alternative to this z-transformation is to use the product function in the design matrix (c.f. p. 20)
to multiply the individual covariate by a scaling value. As an example, suppose the individual covariate
Var ranges from 100 to 900. Using the design matrix function product (Var, 0.001) in the entries of the
design matrix would result in values ranging from 0.1 to 0.9, and would result in 3 more significant
digits being reported in the estimates of the f parameter for this individual covariate.

end sidebar

Acknowledging the need for caution discussed in the preceding -sidebar-, for purposes of demon-
stration, we'll go ahead and run our model, using the z-transformation on the covariate data (by checking
the ‘Standardize Individual Covariates’ checkbox). Add the results to the browser.

— Results Browser: Live Recaptures (CJS) g@
E|=(Bkl| Bl@| o =2 & 4

Madel AlCc Delta AlCc AICc Weight | Model Likelihood | Mo. Par. Deviance
‘ {phifmass mass2)p()} 1mzzomn 0.0000 1.00000 1.0000 4 10114.0040
{phi()p() - no ind cov} 101666341 44,6830 0.00000 0.0000 2| 101626320

First, we notice right away that the model including the 2 covariates fits much better than the model
which doesn’t include them — so much so that it is clear there is effectively no support for our naive
starting model.

Do we have any evidence to support our hypothesis that there is normalizing selection on body mass?
Well, to test this, we might first want to run a model which does not include the mass2 term. Recall that it
was the inclusion of this second order term which allowed for a decrease in survival with mass beyond
some threshold value. How do you run the model with mass, but not mass2?

The easiest way to do this is to simply eliminate the column corresponding to mass2 from the design
matrix. So, simply bring the design matrix for the current model up on the screen (by retrieving the
current model), and delete the column corresponding to mass2 (i.e., delete column 3 from the design
matrix).

The modified design matrix now looks like:

" Design Matrix Specifi... | - || 053

dl> (ol @] @ @& &5

Design Matrix Specification (B = Beta)

Go ahead and run this model - again using standardized covariates. Call this model ‘phi (mass)p(.)".
Add the results to the results browser (shown at the top of the next page).
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1 Results Browser: Live Recaptures (CJS) g@
Bl8=aklx| Bl | = & 4
Model AlCc Delta AlCc AlICc Weight | Model Likelihood | No. Par. Deviance
{phifmass massZjp( )} mzzom 0.0000 1.00000 1.0000 4 10114.0040
{phifmass)p( )} 10151 4362 254251 0.00000 0.0000 3| 101454320
{phi)p() - noind cov} 10166.6541 44 6830 0.00000 0.0000 2 10182 6320

Note that the model withmass only (but not the second order term) fits better than our general starting
model, but nowhere near as well as the model including both mass and mass2 — it has essentially no
support. In other words, our model with both mass and massz2 is clearly the best model for these data
(this is not surprising, since this is the very model we used to simulate the data in the first place!).

So, at this stage, we could say with some assurance that there is fairly strong support for the hypothesis
that there is normalizing selection on body mass. However, suppose we want to actually look at the
‘shape’ of this function. How can we derive the function relating survival to mass, given the results
from our MARK analysis? In fact, it’s fairly easy, if you remember the details concerning the logit transform,
and how we standardized our data.

To start, let’s look at the output from MARK for the model including mass and mass2 (shown at the top
of the next page). In this case, it’s easier to use the ‘full results’ option (i.e., the option in the browser
toolbar which presents all of the details of the numerical estimation). Scroll down until you come to
the section shown at the top of the next page. Note that we have 3 sections of the output at this point.
In the first section we see the estimated logit function parameters for the model. There are 4 f values,
corresponding to the 4 columns of the design matrix (the intercept, mass, mass2 and the encounter
probability, p, respectively). These parameters, in fact, are what we need to specify the function relating
survival to body weight.

In fact, if you think about it, only the first 3 of these logit parameters are needed — the last one refers
to the encounter probability, which is not a function of body mass. What is our function? Well, it is

logit(¢) = 0.256733 + 1.1750545(mass, ) — 1.0555046(mass?).

Note that for the two mass terms, we have added a small subscript ’s” — reflecting the fact that these
are ‘standardized’ masses. Recall that we standardized the covariates by subtracting the mean of the
covariate, and dividing by the standard deviation. Thus, for each individual,

2 =2
m—m m —m
logit(¢)) = 0.256733 +1.17505 ~1.0555 :

In this expression, m refers to mass and m’ refers to mass2.

The output from MARK (shown at the top of the next page) actually gives you the mean and standard
deviations for both covariates. For mass, mean = 109.97, and SD = 24.79, while for mass2, the mean =
12,707.46, and the SD = 5,532.03. The “value’ column shows the standardized values for mass and mass2
(0.803 and 0.752) for the first individual in the data file. Let’s look at an example. Suppose the mass of
the bird was 110 units. Thus mass = 110, mass2 = 110% = 12,100. Thus,

Ay 110 - 109.97 12,100 - 12,707.46
logit(¢) = 0.2567 + 1.17505( 2479 ) 1.0555( 5.532.00

) = 0.374.
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P mrk1685z.tmp - Notepad

File Edit Format View Help

LOGIT Link Function Parameters of {phi(mass mass2)p(.)}
a

% confidence Interwval

Real Function Parameters of {phi(mass mass2)p(.)}

Following estimates based on standardized individual covariate values:

Parameter Beta standard Error Lower Upper
1: 0.2567320 0.0300115 0.1979094 0.3155546
2: 1.1750358 0.1933651 0.7960401 1.5540314
3: -1.0554864 0.1904705 -1.4288086 -0.6821642
4: 0.B8614865 0.05341061 0.75354385 0.9673345

I[( ] 11l

variable wvalue Mean sD
M 0.8033044 109, 96803 24.792557
M2 0.7524340 12707.464 5532.0322
95% Confidence Interval
Parameter Estimate standard Error Lower Upper
1:Phi 0.6002386 0.0090557 0.5823651 0.6178492
2:p 0.7029711 0.0112975 0.6803626 0.7246278

(]
(2]

So, if logit(¢) = 0.374, then how do we get the reconstituted values for survival? Recall that

logit(0) = log(%) =a+Bx,

and
o - ea+ﬁx

- 1 +_ea+ﬁx'

Thus, if logit(¢) = 0.374, then the reconstituted estimate of ¢, transformed back from the logit scale
is e®7*/(1 + ¢*¥*) = 0.592. Thus, for an individual weighing 110 units, expected annual survival
probability is 0.592. How well does the estimated function match with the ‘true’ function used to

simulate the data? Let’s plot the observed versus expected values:

0.7 1

annual survival probability (¢)

0.1 T T T T T T T T T T

20 40 60 80 100 120 140 160 180 200

body mass (g) at time of marking
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As you can see from the plot, the fit between the values expected given the ‘true’ function (solid
black line) and those based on the function estimated from MARK (red dots) are quite close, as they
should be. The slight deviation between the two is simply because the simulated data are simply one
realization of the stochastic process governed by the underlying survival and recapture parameters.

Note: in the preceding, we've described the mechanics of reconstituting the parameter estimate —
this basically involves back-transforming from the logit scale to the normal [0, 1] probability scale.
What about reconstituting the variance, or SE of the estimate, on the normal scale? This is somewhat
more complicated. As briefly introduced in Chapter 6, reconstituting the sampling variance on the real
probability scale involves use of something known as the “Delta method’. The Delta method, and its
application to reconstituting estimates of sampling variance is discussed at length in Appendix B.

begin sidebar

AIC, BIC - example of the difference

Back in Chapter 4, we briefly introduced two different information theoretic criteria which can be used
to assist in model selection, the AIC (which we’ve made primary use of), and the BIC. Recall that we
briefly discussed the differences between the two — noting that (in broad, simplified terms), the AIC
has a tendency to pick overly complex models — especially if the ‘true’ model structure is complex,
whereas the BIC has a tendency to pick overly simple models when the reverse is true.

We can demonstrate these differences by contrasting the results of model selection using AIC or
BIC for our analysis of the normalizing selection data. To highlight differences between the two, we’ll
consider the following 4 models: {¢_p_}, { @00 P.} {® e a2y P 1 and @ o0 3P} Recall
that the true model used to generate the simulated data was model {¢, . 2 p }.So, our candidate
model set consists of two models which are simpler than the ‘true’ model, and one model that is more
complex than the ‘true” model.

Here are the results from fitting the model set to the data, using AIC as the model selection criterion:

Il Results Browser: Live Recaptures (CJS)

BIS=/0 LN @ o) 405 A Q)

Mode! AlCc Delta AlCc AlCc Weight | Model Likelihood | Mo. Par. Deviance
| {philmass mass2 mass3)p()} 101184916 0.0000 0.85318 1.0000 5 10108.4310
{phi{mass massZjp(}} mzzmn 35195 014682 01721 4| 10114.0040
{phifm}} 101514362 32.9446 0.00000 0.0000 3| 101454320
{phi{.)p() - no covar} 1016665341 48.2025 0.00000 0.0000 2 10182.6920

Note that although model {¢, . . 2 p.} is the true generating model, it was not the most parsi-
monious model using AIC - in fact, it was 5-6 times less well supported than was a more complex
model {(p(mssmssz,masss) p.}.

What happens if we use BIC as our model selection criterion? (Remember this can be accomplished
by changing MARK's preferences; ‘File | Preferences’). If you look at the results browser at the top
of the next page, you'll see that the BIC selected what we know to be the ‘true” model {¢ (mass,mass?) p.}

— the next best model {(,,.. .2 .3 P.} Was 5-6 times less well supported than was the most
parsimonious model.

Il Results Browser: Live Recaptures (CJS)

BIS=/0 LN @ o) 45 A 80

Mode! BIC Delta BIC BIC Weight Model Likelihood | Mo. Par. Deviance
: {philmass mass2)p()} 10148.5793 0.0000 0.82640) 1.0000 4| 10114.0040
{phi{mass mass2 mass3p(.)} 10151.7001 31208 0.17359) 0210 5 101084810
{phifm}} 10171.3635 22,7842 0.00001 0.0000 3| 101454320
{phi{.)p() - no covar} 10178.9757 31.4004 0.00000 0.0000 2 101828920

Chapter 11. Individual covariates



11.3. A more complex example — time variation 11-15

So, is this an example of BIC ‘doing better’ when the true model is relatively simple? Or is the fact
that the BIC picked the right model an artifact of the inclusion of the right model in the candidate model
set (a point of some contention in the larger discussion)? Our point here is not to make conclusions one
way or the other. Rather, it is merely to demonstrate the fact that different model selection criterion can
yield quite different results (conclusions) — so much so (at least on occasion) that it will be worth you
spending some time thinking hard about the general question, and reading the pertinent literature.
Particularly good starting points are Burnham & Anderson (2004) and Link & Barker (2006).

end sidebar

11.3. A more complex example — time variation

In the preceding example, we made life simple by simulating some data where there was no variation
in either survival or recapture rates over time. In this example, we’ll consider the more complicated
problem of handling data where there is potential variation in survival over time.

We’ll use the same approach as before, except this time we will simulate some data where survival
probability is a complex function of both mass and cohort. In this case, we simulated a data set having
normalizing selection in early cohorts, with a progressive shift towards diversifying selection in later
cohorts. Arguably, this is a rather ‘artificial” example, but it will suffice to demonstrate some of the
considerations involved in using MARK to handle temporal variation in the relationship between
estimates of one or more parameters and one or more individual covariates.

The data for this example are contained in indcov2.inp. We simulated 8 occasions, and assumed a
constant recapture rate (p = 0.7) for all individuals in all years. The data file contains 2 covariates —mass
and mass2 (as in the previous example). As with the first example, we start by creating a new project,
and importing the indcov2.inp data file. Label the two covariates mass and mass2 (respectively).

We will start by fitting model {¢, p.}, since this is structurally consistent with the data, and will
provide a reasonable starting point for comparisons with subsequent models. Go ahead and add the
results of this model to the results browser.

’*’: Results Browser: Live Recaptures (CJS)

B8zl kel @ o= &8 oA 8al
Model AlCe Delts AICc |  AICcWeight | Model Likelihood | No. Par. | Deviance
11364 6467 0.0000 1.00000 1.0000 8| 118436240

Now, to fit models with both individual covariates, and time variation in the relationship between
survival and the covariates, we need to think a bit more carefully than in our first example. If you
understood the first example, you might realize that to do this, we need to modify the design matrix.
However, how we do this will depend on what hypothesis we want to test. For example, we might
believe that the relationship between survival and mass changes with each time interval. Alternatively,
we might suppose there is a common intercept, but different slopes for each interval. It is important to
consider carefully what hypothesis you want to test before proceeding.

We'll start with the hypothesis that the relationship between survival and mass changes with each
time interval. With a bit of thought, you might guess how to construct this design matrix. In the previous
example, we used 3 columns to specify this relationship — representing the intercept, mass and massz2,
respectively. However, in the first example, we assumed that this model was constant over all years.
So, what do we do if we believe the relationship varies from year to year? Easy, we simply have 3
columns for each interval in the design matrix for survival (with 1 additional column at the end for
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the constant recapture probability). So, 7 intervals = 21 columns for survival, plus 1 column for the
recapture probability. How many rows? Remembering from Chapter 6, 8 rows total — 7 rows for the 7
survival intervals, and 1 for the constant recapture rate.

So, let’s go ahead and construct the design matrix for this model, using the ‘Design | Reduced’ menu
option we discussed previously. We'll start simply, using a DM based on the basic structure of the identity
matrix —recall that for an identity DM, each row corresponds to a ‘time-specific regression model’, since
each row has its own intercept (see Chapter 6). Or, put another way, each interval ‘has its own multiple
regression line — separate intercept, separate slope(s) — relating survival to mass and mass2’.

This matrix (shown below) is sufficiently big such that it’s rather difficult to see the entire structure
at once.

I Design Matrix Specification: Live Recaptures (CJs) E]@

[>[m 8] @ @ &5

Design Matrix Specification (B = Beta)

B1 B4 | B5 | BE ‘ B7 B8 BY B10 | B11 B12 | B13 | B14 | B15 | B16 | B17 | B18 [ B19 | B20 | B21 | Pam | B22

1 0 0 0 0 0 0 0 1:Phi |0
0 0 0 mass  mass2 0 1] 0 0 0 1] 0 2Phi |0
0 0 0 0 0 0 0 0 0 JPhi |0
0 0 0 0 0 0 0 0 4Phi |0
0 0 0 1 0 0 0 5:Phi |0
0 0 0 0 0 0 0 0 0 6:Phi |0
0 0 0 0 0 1] 1 mass mass? |HETIEY
0 0 0 0 0 0 0

As you can see, for each survival interval, we have 3 columns — 1 intercept, and 1 column each for
mass and mass2, respectively. So, the columns B1, B2 and B3 correspond to interval 1, B4, B5 and B6 for
interval 2, and so on. You simply do this for each of the 7 survival intervals. The bottom right-hand cell
of the matrix (shown on the preceding page) contains a single ‘1" for the constant encounter probability.
Call this model ‘phi(t * mass mass2)p(.) - separate intcpt’, and run it-remember to standardize
the covariates before running the model. Add the results to the browser.

Model AlCc Delta AlCc AlCc Weight Model Likelihood | No. Par. Deviance
{phi(t* mass mass2 - separate intcpt)p()} 11809.5367 0.0000 1.00000 1.0000 22| 117653770

{philp ()} 11864.6467 55.1100 0.00000 0.0000 8| 118486240
1

Again, note that the model constrained to be a function of mass and mass2 fits much better than our
naive starting model. Not surprising, since the data were simulated under the assumption that survival
varies as a function of mass and mass2, and that the function relating survival to both covariates changes
over time (i.e., we just fit the true model to the data).
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Of course, in practice, we don’t know what the true model is, so we fit a set of approximating models.
How do we construct those models if the include one or more individual covariates? In the following, we
discuss various ways to construct design matrices — in principle, we use the same ideas and mechanics

introduced in Chapter 6. However, the design matrices ‘look somewhat different” when they include
one or more individual covariates.

11.4. The DM & individual covariates — some elaborations

Suppose you want to fit a model with different intercepts and different slopes for each year. In other
words, the same model we just built. Start by considering what such a model means. In the following
figure, each line represents the relationship (which we assume here is strictly linear) between the

parameter, ¢, and the individual covariate, mass, for each of the 7 years in the study (i.e., separate slope
and intercept for each year):

logit(¢p)

body mass (g)

As we've already seen (above), you could accomplish this by adding an ‘intercept’ and ‘slope’
parameter(s) to each row for the parameter in question (i.e., using a identity-like structure, have a

‘separate regression’ for each interval). So, for a simple linear model of survival as a function of mass,
we could use could use something like the following:

(" Design Matrix Specification: Live Recaptures (CJS) {gfgh}

[>[m 8] o @ s 0 LAl
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However, a more flexible (and, in some senses, ‘familiar’) way to model this would have been to use:

B6 | 87| B8 | BO | B10 | B11 | B2 | B13 | B4 |, B15
| 65| t6|mtl| m2 | m3 | md | mt5 | mt5 [ O p

R
o8

1:Phi

2:Phi

3:Phi
4:Phi
5:Phi
6:Phi

L= == == == i ==

mass

mass

o o |o|a|ao|a|o

[==Jp == (== = Y Y i = =
Q00 0 EoO | O O
[=IR=E=N — E=NE=E=1 =]
(==l =l . e = = R e e |

In other words, a column of “1’s for the intercept, a column for the covariate (mass), and then the
columns of dummy variables corresponding to each of the time intervals (t1 — t6), and then columns
reflecting the interaction of the covariate and time. You might recognize this as the same analysis of
covariance (ANCOVA) design you saw back in Chapter 6. If you take this design matrix, and run it,
you'll see that you get exactly the same results as you did with the design matrix we used initially —
each leads to time-specific estimates of the slope and intercept.

So, if they both yield the ‘same results’, why even consider this more formal design matrix? As we
noted in Chapter 6, the biggest advantage is that using this more complete (formal) design matrix allows
you to test some models which aren’t possible using the first approach.

For example, consider the additive model — where we have different intercepts, but a common slope
among years:

logit(¢p)

body mass (g)

In other words, testing model
@ = time + mass,

as opposed to the first model which included the (time.mass) interaction (i.e., where the slopes and
intercepts vary among years):

@ = time + mass + time.mass.

As we discussed in Chapter 6, this sort of additive model can only be fit using this formal design-
matrix approach.
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So, to fit this model — where we have different intercepts, but a common slope among years — we
simply delete the interaction columns. It’s that simple!

Here is the reduced design matrix:

B4: | B5: | B6: | B7: | B&: P BY:
2|3 |w|6|w | p
R0 |

00 0Kl (O | 0|0

logit(¢p)

body mass (g)

then the DM would look like:

mass

Now that you have the general idea, let’s consider constructing a set of models to test various (made-
up) hypotheses concerning the encounter data in indcov2.inp.
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We'll suppose that we're interested in fluctuating selection for survival as a function of body mass.
Meaning, we suspect that survival varies as a function of body mass (in a potentially non-linear way),
and that the pattern of variation varies over time. So, we’ll consider a set of models where we fit
both first- and second-order polynomial of survival as a function of mass (i.e., survival = f(mass), and
survival=f(mass+mass2)), with and without variation in that function over time. We’ll start with the
most general model — survival as a second-order function of mass, with time variation in the slope and
the intercept of that function: {¢,,,. ....2, P.}-

In fact, we built precisely this model in the preceding section, but, using the following design matrix,
with a separate intercept for each time interval:

Design Matrix Specification (B = Beta)
B4 | B5 | BE ‘ B7 B8 BY B10 | B11 B12 | B13 | B14 | B15 | B16 | B17 | B18 [ B19 | B20 | B21 | Pam | B22

0
0
0
0

olala|la|la|a|=

Here, we’ll build the exact same model, but using a common intercept for all time intervals. If you
followed what we did earlier in this section, you should have a pretty good guess what it might look
like. We know from above that we need 21 columns for survival.

Here is the DM:

B5 | B6| B7 | B8 | BY B21 Parm 22
2| 3| | 15|16 m2.t6 P
L o o mass 0 1:Phi m
1 1] o 2:Phi |0
o o o 3:Phi |0
1] 1] o 4:Phi |0
o 1 L mass2 i) 5:Phi |0
1] 1] 6:Phi |0
L o o 7:Phi |0
1] 1] 8p

The models are entirely equivalent —in terms of fit, and reconstituted parameter estimates. So is there
an advantage of one over the other (i.e., common intercept, versus separate intercepts)? The common
intercept approach makes it easier to fit models with specific types of constraint — for example, additive
models. On the other hand, interpreting interval-specific intercepts and slopes from the DM built using
separate intercepts is somewhat more straightforward than when using a common intercept.

For example, if you look at the parameter () estimates from the ‘separate intercept” approach, you will
see that they correspond to what we expected (given the model under which the data were simulated):
in the early cohorts the sign of the slope for mass is positive, and for mass2 is negative — consistent with
normalizing selection. In later cohorts, the signs are consistent with increasingly disruptive selection.
In contrast, to figure out what is going on when you use a ‘common intercept” approach, where each
estimated slope is interpreted relative to a reference level (by default, the final time interval), requires
more work.

This distinction between the ‘separate intercept” approach (which in effect amounts to using an
identity matrix), and the ‘common intercept’ approach (where the slopes reflect variation of levels
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of a factor — say, time — relative to a reference level of that factor) were introduced in Chapter 6. We'll
consider a more direct way to ‘parse out the pattern’ — by graphing the relationships directly — later in
this chapter.

For the moment, we’ll continue building models using the ‘common intercept’-based DM as our
starting structure. Let’s now consider a model that does not have time variation in the relationship
between survival and body mass. All we need do is modify our general DM (with the common intercept
for all time intervals), by eliminating the time columns, and the columns showing the interaction of mass
with time:

w mass2

7:Phi fuEE:

Finally, suppose you want to test the hypothesis that there is a common intercept for each year, but a
different slope. How would you modify the design matrix for our general model to reflect this? Well, by
now you might have guessed — you simply have 1 column for an intercept for all 7 intervals, and then
multiple columns for the mass and mass2 terms for each interval:

B13: |, B14:
m2t | o

B

2:Phi

mass2

. =2 3:Phi

4:Phi
5:Phi
G:Phi
7:Phi
8p

mass mass2

IGDDDDD

1
1
1
1
1
1
1
i]

It is worth noting that when you specify a model with a common intercept but 2 or more slopes
for the individual covariate, and standardize the individual covariate, you will get a different value of
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the deviance than from the model run with unstandardized individual covariates. This is because the
centering effect of the standardization method affects the intercept differently depending on the value of
the slope parameter. The effect is caused by the nonlinearity of the logit link function. You get the same
effect if you standardize variables in a logistic regression, and run them with a common intercept. The
result is that the estimates are not scale independent, but depend on how much centering is performed

by subtracting the mean value.

begin sidebar

11-22

Design Matrix Functions

A number of special functions are allowed as entries in the design matrix: add, product, power, min, max,
log, exp, eq (equal to), gt (greater than), ge (greater than or equal to), 1t (less than), and 1e (less than
or equal to). These names can be either upper- or lower-case. You should not include blanks within
these function specifications to allow MARK to properly retrieve models with these functions in their
design matrix.

As shown below, these functions can be nested to create quite complicated expressions, which may
require setting a larger value of the design matrix cell size (something you can specify by changing
MARK's preferences — ‘File | Preferences’).

1. add and product functions

These two functions require 2 arguments. The add function adds the 2 arguments together, whereas
the product function multiplies the 2 arguments. The arguments for both functions must be one of the
3 types allowed: numeric constant, an individual covariate, or another function call.

The following design matrix demonstrates the functionality of these 2 functions, where wt is an
individual covariate.

1 1 1 wt product(l,wt) product(wt,wt)
1 1 2 wt product(2,wt) product(wt,wt)
1 1 3 wt product(3,wt) product(wt,wt)
1 0 add(o,1) wt product(l,wt) product(wt,wt)
1 0 add(l,1) wt product(2,wt) product(wt,wt)
1 0 add(1,2) wt product(3,wt) product(wt,wt)

The use of the add function in column 3 is just to demonstrate examples; it would not be used in
a normal application. In each case, a continuous variable is created by adding constant values. The
results are the values 1, 2, and 3, in rows 4, 5, and 6, respectively.

Column 5 of the design matrix demonstrates creating an interaction between an individual covariate
and another column (the first3 rows) ora constantand an individual covariate (the last 3 rows). Column
6 of the design matrix demonstrates creating a quadratic effect for an individual covariate. Note that
if the 2 arguments were different individual covariates, an interaction effect between 2 individual
covariates would be created in column 6.

2. IF functions: eq (equal to), gt (greater than), ge (greater than or equal to), 1t (less than), le (less
than or equal to)

These five functions require 2 arguments. The eq, gt, ge, 1t, and le functions will return a zero if
the operation is false and a one if the operation is true. For each of these functions, 2 arguments (x1
and x2) are compared based on the function.

For example, eq(x1,x2) returns 1 if x1 equals x2, and zero otherwise; gt (x1,x2) returns 1 if x1
is greater than x2, zero otherwise; and le(x1,x2) returns 1 if x1 is less than or equal to x2, zero
otherwise. The arguments for these functions must be one of the 3 types allowed: numeric constant,
column variable, or an individual covariate.
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The following design matrix demonstrates the functionality of both the add function and the IF
function (eq), where age is an individual covariate.

add(0,age) eq(0,add(0,age))
add(l,age) eq(@,add(l,age))
add(2,age) eq(0,add(2,age))
add(3,age) eq(0,add(3,age))
add(4,age) eq(@,add(4,age))
add(5,age) eq(0,add(5,age))

e

In this particular example, the individual covariate age corresponds to the number of days before
a bird fledges from its nest (fledge day 0) and subsequently enters the study. Suppose an individual
fledges from its nest during the fourth survival period. Its encounter history (LDLD format) would
consist of ‘00 00 00 10" and the individual would have —3 as its age covariate because the individual
did not fledge from its nest until the fourth survival period. A bird that did not fledge from its nest
until survival period 20 would have —19 as its age covariate. Think of the use of negative numbers as
an accounting technique to help identify when the individual fledges.

Column 2 of the design matrix demonstrates the use of the add function to create a continuous age
covariate for each individual by adding a constant to age. The value returned in the first row of the
second column is —3 (0 + (—3) = —3). The value returned in the second row of the second column is —2
(1 + (=3) = —2). The value returned in the fourth row of the second column is zero and corresponds
to fledge day 0 (3 + (=3) = 0). The value returned in the fifth row of the second column is one and
corresponds to fledge day 1. Thus, column 2 is producing a trend effect of age on survival, with the
intercept of the trend model being age zero. A trend model therefore models a constant rate of change
with age on the logit scale, so that each increase in age results in a constant change in survival, either
positive or negative depending on the sign of f,.

Now, suppose that survival is thought to be different on the first day that a bird fledges, i.e., the first
day that the bird enters the encounter history. To model survival as a function of fledge day 0, use the
eq function to create the necessary dummy variable. This is demonstrated in the third column. The
eq function returns a value of one only when the statement is true, which only occurs on the first day
the bird is fledged. Recall that the value for age of this individual is —3; therefore, the add function
column will return a value of =3 (0 + (=3) = —3) in the first row. The eq function in the third column
would return a value of zero because age (—3) is not equal to zero. The eq function in the third column,
fourth row would return a value of one because age (0) is equal to (0). Note this will only be true for
row four for this particular individual; all other rows return a value of zero because they are false.
Thus, the eq function will produce a dummy variable allowing for a different survival probability on
the first day after fledging from the trend model for age which applies thereafter.

Note that the eq function in this example is using the same results of the add function from the
preceding column, and illustrates the nesting of functions.

3. power function

This function requires 2 arguments (x,y). The first argument is raised to the power of the second
argument; i.e., the result is . As an example, to create a squared term of the individual covariate
length, you would use power (length,2). To create a cubic term, power (1ength, 3). So, in our normal-
izing selection example (first example of this chapter), we did not need to explicitly include mass” in
the . INP file — we could have used power (mass, 2) to accomplish the same thing.

4. min/max functions

The min function returns the minimum of the 2 arguments, whereas the max function returns
the maximum of the 2 arguments. These functions allow the creation of thresholds with individual
covariates. So, with the individual covariate 1ength, the function min(5, length) would use the value
of length when the variable is < 5, but replace length with the value 5 for all lengths > 5. Similarly,
max (3, length) would replace all lengths < 3 with the value 3.
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5. log, exp functions

These functions are equivalent to the natural logarithm function and the exponential function.
Each only requires one argument. So, for the individual covariate length = 2, log(length) returns
0.693147181, and exp(length) returns 7.389056099.

Example

These functions are useful for constructing a design matrix when using the nest survival analysis
(Chapter 18). Here, the add and ge functions are demonstrated. Stage-specific survival (egg or nestling)
could be estimated only if nests were aged and frequent nest checks were done to assess stage of failure.

add(0,age) GE(add(0,age), 15) product (add(@,age),GE(add(0,age),15))
add(1,age) GE(add(1,age),15) product(add(l,age),GE(add(1,age),15))
add(2,age) GE(add(2,age), 15) product (add(2,age),GE(add(2,age), 15))
add(3,age) GE(add(3,age), 15) product(add(3,age),GE(add(3,age), 15))
add(4,age) GE(add(4,age),15) product(add(4,age),GE(add(4,age),15))
add(5,age) GE(add(5,age), 15) product (add(5,age),GE(add(5,age), 15))
add(6,age) GE(add(6,age), 15) product(add(6,age),GE(add(6,age),15))
add(7,age) GE(add(7,age), 15) product(add(7,age),GE(add(7,age), 15))
add(8,age) GE(add(8,age), 15) product (add(8,age),GE(add(8,age), 15))
add(9,age) GE(add(9,age), 15) product(add(9,age),GE(add(9,age), 15))
add(10,age) GE(add(10,age),15) product(add(10,age),GE(add(10,age),15))
add(11,age) GE(add(11,age),15) product(add(1l1l,age),GE(add(11,age),15))
add(12,age) GE(add(12,age),15) product(add(12,age),GE(add(12,age),15))
add(13,age) GE(add(13,age),15) product(add(13,age),GE(add(13,age),15))
add(14,age) GE(add(14,age),15) product(add(14,age),GE(add(14,age),15))
add(15,age) GE(add(15,age),15) product(add(15,age),GE(add(15,age),15))
add(16,age) GE(add(16,age),15) product(add(16,age),GE(add(16,age),15))
add(17,age) GE(add(17,age),15) product(add(17,age),GE(add(17,age),15))
add(18,age) GE(add(18,age),15) product(add(18,age),GE(add(18,age),15))

R o R R R R R R R R R B R R b S e e

In this particular example, the age covariate corresponds to the day that the first egg was laid in a
nest (nest day 0). Suppose a nest is initiated during the fourth survival period. Its encounter history
(LDLD format) would consist of 60 00 00 10 and the nest would have —3 as its age covariate because
the first egg was not laid in the nest until the fourth survival period.

Column 2 of the design matrix demonstrates the use of the add function to create a continuous
age covariate for each nest. The value returned in the first row of the second column is —3. The value
returned in the second row of the second column is —2. The value returned in the fourth row of the
second column is a zero and corresponds to the initiation of egg laying. The value returned in the fifth
row of the second column is one (the nest is one day old).

To model survival as a function of stage, use the ge function to quickly create the necessary dummy
variable. This is demonstrated in third column. The value of 15 is used in this example because it
corresponds to the number of days before a nest will hatch young birds. Day 0 begins with the laying
of the first egg, so values of 0 — 14 correspond to the egg stage. Values of 15 — 23 correspond to the
nestling stage. The ge function will return a value of one (nestling stage) only when the statement is
true.

Because the value of age for this nest is —3, the add function column returns a value of -3 (since
0 + -3 = -3) for the first row. The ge function (third column) returns a value of zero because the
statement is false; age (—3) is not greater than or equal to 15. A value of one appears for the first time
in row 19; here, the add function returns a value of 15 (since 18 + (—3) = 15). The ge function returns
a value of one because the statement is true; add(18,age) results in 15 which is greater than or equal
to 15.

The fourth column produces an age slope variable that will be zero until the bird reaches 15 days of
age, and then becomes equal to the bird’s age. The result is that the age trend model of survival now
changes to a different intercept and slope once the bird hatches.
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Some useful tricks

An easy way to prepare these complicated sets of functions is to use Excel to prepare the values
and then paste them into the design matrix. The following illustrates how to used the concatenate
function in Excel to concatenate together a column and a closing ‘)’ to create a complicated column of
functions that duplicate the above example.

A B C D

1 =concatenate("add(age,",A2,")") =concatenate("GE(",B2,",15)") =concatenate("product(",B2,",",C2,")")
2 =concatenate("add(age,",A3,")") =concatenate("GE(",B3,",15)") =concatenate("product(",B3,",",C3,")")
3 =concatenate("add(age,",A4,")") =concatenate("GE(",B4,",15)") =concatenate("product(",B4,",",C4,")")
Other details

The design matrix values can have up to 60 characters, and unlimited nesting of functions (within the
60 character limit). As an example, the following is a very complicated way of computing a value of 1:

log(exp(log(exp(product(max(0,1),min(1,5))))))

Before the design matrix is submitted to the numerical optimizer, each entry in the design matrix is
checked for a valid function name at the outermost level of nesting, plus that the number of ‘(" matches
the number of ‘).

In previous versions of MARK, the design matrix functions were allowed to reference a value in
one of the preceding columns. This capability was removed when the ability to nest functions was
installed. No flexibility was lost with the removal of the ‘Colxx’ capability, and a considerable increase
in versatility was obtained with the nested design matrix function calls. As shown in the Excel ‘Tricks’
example above, the ability to use values from other columns is still available. The ‘Colxx’ capability
was also a very error prone method in that a column could be inserted ahead of the column being
referenced, and the entire model would become nonsense without the user realizing that a mistake
had been made. Therefore, the ‘Colxx’ capability was removed.

end sidebar

11.5. Plotting + individual covariates

In the first example presented in this chapter, we considered the relationship between survival and
individual body mass, under the hypothesis that there was strong ‘normalizing selection’ on mass —1i.e.,
that the relationship between survival and mass was quadratic. We found that a quadratic model

logit(¢) = 0.256733 + 1.1750545(mass, ) — 1.0555046(mass>),

had good support in the data. We discussed briefly the mechanics of reconstituting the estimates of
survival on the normal probability scale — the complication is that you need to generate a reconstituted
value for each plausible value of the covariate(s) in the model. In fact, this is not particularly challenging
for simple models such as this. Because the linear model consists of a covariate (mass) plus a function
of the covariate (mass?), it is relatively trivial to code this into a spreadsheet and generate a basic plot
of predicted survival values over a range of values for mass. In fact, this is effectively what was done to
generate the plot of predicted versus observed values we saw earlier (example on p. 14).

But, there are no confidence bounds on the predicted value function. The calculation of 95% CI for
this function requires use of the Delta method — although not overly difficult to apply (the Delta method
is discussed at length in Appendix B), it can be cumbersome and time consuming to program.
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Fortunately, MARK has a plotting tool that make it convenient to generate a plot of predicted values
from models with individual covariates, which includes the estimated 95% CI. MARK also makes it
possible to output the data (including the data corresponding to the 95% CI) to a spreadsheet.

Let’s demonstrate this for the analysis we previously completed on the normalizing selection data in
indcovl.inp. Open up the .DBF file corresponding to those results, and retrieve the most parsimonious
model from the model set we fit to those data {¢,,...,..2 P.}- Then, click on the ‘Individual Covariate
Plot’ icon in the main MARK toolbar:

esults Browser: Live Recaptures (CJS)

SIEB:] ||_>‘|{ﬁ“lz\l s
Model Individual Covariate Flat]"

........ Tl t mm msime b smbinm  mbmmAmndian Al | 1n-

This will bring up a new window which will allow you to specify key attributes of the plot:

Individual Covariate Plot

Madel: {phijmass mass2)p(.) - no power function - standardized}

Title: |thi|:mass massZjp(.)
Design Matrix Row: Design Matrix Row

Select Parameter to Plot

1:Phi Individual Covariate to Plot
2p mass Range of Individual Covariate to Flot
mass2 Minimum

Mapdmum

[ Estimates put into Excel

[ Plot only the actual estimates

Help Cancel | oKk |

Notice that the title of the currently active model is already inserted in the title box. Next, are two
boxes where you specify (i) which parameter you want to plot, and (ii) which individual covariate you
want to plot. In our model, there are 2 different individual covariates —mass and mass2.

So, first question — which one to plot? If you look back at the figure at the bottom of p. 13, you'll
see that we're interest in plotting ‘survival’ versus ‘mass’. So, if our goal is to essentially replicate these
plots, with the addition of 95% CI, using this individual covariate plot tool in MARK, it would seem to
make sense that we should specify mass as the covariate we want to plot.

Finally, two boxes which allow us to specify the numerical range of the individual covariate to plot.
Also notice the check box you can check if you want to output the various estimates that go into the
plot output to a spreadsheet.
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OK - seems easy enough. Let’s start by clicking on the survival parameter ‘Phi’".

Individual Covarate Plot

Model: {phijmass mass2)p(} - no power function - standardized}

Title: |{phi[mass massZ)pl)
Design Matrix Row: B1*1 + B2*mass + B3*mass2

Select Parameterto Plot

1:Phi Individual Covariate to Plot
2p mass Range of Individual Covariate to Plot
mass2 Minimum

Mandmum

As soon as we do so, the window “updates’, and now presents you with the ‘Design Matrix Row’. For
this example, the DM has only 2 rows, so what is presented is in fact the linear model itself.

Next, we click on ‘mass’ to specify that as the individual covariate we want to plot. The window
immediately updates — and spawns a new box in the process.

Individual Covariate Plot

Model: {phifmass mass2)pl) - no power function - standardized}

Title: |{1:-hi[mass massZpl)
Design Matrix Row: B1*1 + B2*mass + B3*mass2

Select Paramater to Plot

1:Phi Individual Covariste to Plot
2p mass Range of Individual Covariate to Plot
mass2 Mirimum 7266

Maxdmum 194,553

Covariate Valus

massZ 12707 4638

Asyou can see, the range of covariate values has been updated showing the maximum and minimum
values that are actually in the .INP file. You can change these manually as you see fit (usual caveats about
extrapolating a plot outside the range of the data apply).

Now, what about the new box — showing mass2 set to 12,707.4638? First, you might recognize the
number 12,707.4638 as the square of the mean mass of all individuals in the sample. But, why is a box
for mass2 there in the first place? It’s there because the linear model that MARK is going to plot has 2
covariates —mass and mass2.
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OK - so what does MARK actually plot? Well, if you click the ‘OK” button, MARK responds with

M Graphics for Parameter Estimates

{phi(mass,mass2)p(.)}
# Predicted FLCI # ucl
=
o
Eéﬂ
mass
Close |

which doesn’tlook remotely like the quadratic curve we were expecting. What is actually being plotted?
Well, if you think about it for a moment, it should be clear that MARK is plotting the functional
relationship between survival and mass, holding the value of mass2 constant at the mean value! Different
values of mass2 would yield different plots.

So, MARK isn’t doing anything wrong —it’s simply plotting what you told it to plot. MARK generates
a 2-D plot between some parameter and one covariate. If there are other covariates in the model, then
it needs to know what to do with them. Clearly, if there were only 2 covariates in the model, you could
construct a 3-D plot (the two covariates on the x- and y-axes, and the parameter on the z-axis), but what
if you had > 2 covariates? If would be difficult to program MARK to accommodate all permutations in
the plot specification window, so it defaults to 2-D plots, meaning (i) you plot a parameter against only
one covariate, and (ii) you need to tell MARK what to do with the other covariates.

So, how do you tell MARK to plot survival versus mass and mass2 together, as a single 2-D plot? The
key is in specifying the relationship between mass and mass2 explicitly — in effect, telling MARK that
mass2 is in fact just (mass X mass). MARK doesn’t ’know” that the second covariate (mass2) is a simple
function of the first (mass). MARK doesn’'t know this because you haven’t told MARK that this is the
case. In your DM, you simply entered mass and mass2 as label names for the covariates, which were in
fact "hard-coded’ in the .INP file. You (the user) know what they represent, but all MARK sees are two
different covariates with two different labels.

So, if you can't pass this information to MARK in the plot specification window, where can you do
so? Hint: what was the subject of the last -sidebar- presented several pages back? Looking back, you'll
see that we introduced a series of ‘design matrix functions’, which included power and product. In our
current analysis, we coded for mass and mass2 explicitly in the DM by entering the labels corresponding
to the mass and mass2 covariates, which were hard-coded into the .INP file. As such, we know what
the covariates represent, but MARK doesn’t — it only knows the label names.
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But, what if instead of

" Design Matrix Specificatio... |~ || 024
@l @] &) 4

Design Matrix Specification (B = Beta)
Pam B4

1 mass mass? ERaY

we used

> fEl @) @ @ A A A

Design Matrix Specification (B = Beta)
Pam B4

1 mass  powerjmass,2)

Look closely at this second DM — notice that we’ve used the power function. Recall that the power
function has two arguments — the first argument (mass, in this example) is raised to the power of the
second argument (2, in this case). Now, we have explicitly coded (i.e., told MARK) that the second
covariate is a power function of the first covariate. And because MARK now knows this, it knows what
to plot, and how.

Run this model, and add the results to the browser. As expected, the results are identical to what we
saw when we ran this model using the hard-coded mass2 in the . INP file. But, more importantly, when
we plot this model, we get exactly what we were looking for:

M Graphics for Parameter Estimates.

{phi(mass,mass2)p(.)} - power function}
# Predicted # LCI # UCl

0.8+

0.6
=
o
- 0.4+

0.2+

0.0 f f f {

0 50 100 150 200
mass
Hep |
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Note that there are two other options in the ‘Individual Covariate Plot’ specification window:
you can (i) output the estimates into Excel, or (ii) plot only the actual estimates (meaning, plot only the
reconstituted estimates for the parameter for the actual covariates in the input file — the estimates are
presented without their estimated SE).

Beyond the mechanics of plotting individual covariate functions, which is clearly part of the intent of
this section, this example also demonstrates one of the ‘hidden” advantages of using the DM functions
to handle coding any functional relationships you might have among your covariates. Not only does
this save you from having to do those calculations by hand while you construct the . INP file, they also
provide a convenient mechanism to make those functional relationships ‘known’ to MARK.

Plotting model averaged models with covariates is possible in MARK (see section 11.8), and using
RMark (see Appendix C — discussion of the covariate.predictions function).

begin sidebar

plotting “‘environmental” covariates as ‘individual’ covariates

In Chapter 6, section 6.8.2, we considered the plotting of the functional relationship between some
parameter of interest and a particular ‘environmental’ covariate. One of the things noted in Chapter 6
was the lack of a direct option in MARK to plot this functional relationship.

But, we can, in fact, generate exactly the plot we’re looking for, within MARK, by using a “trick’
that involves individual covariates. The ‘“trick” is to get MARK to treat environmental covariates as
individual covariates, and then use the individual covariate plotting capabilities in MARK that we
introduced in the preceding section.

The basic idea is actually quite simple — if you remember the difference between an ‘environmental”’
and ‘individual’ covariate. They key is the idea that an ‘environmental covariate’ is a covariate that
applies to all individuals. So, how do we use individual covariates to model/plot environmental
covariates? Easy — you simply add the value of the environmental covariate to each individual in
the . INP file, as if it were an individual covariate.

We’ll demonstrate this using the dipper data (what else?). Assume that we believe that annual
apparent survival, ¢ is a function of some measure of rainfall. The dipper data consists of live capture
data over 7 occasions (6 intervals).

Here are the ‘rain data’ we’ll use in our model.

Interval 1 2 3 4 5 6
rain 1 10 8 15 3 6

For this demonstration, we’'ll use the full dipper data (ed. inp) — 7 occasions, 2 attribute groups (males
and females). The first step involves entering the environmental covariate data into the . INP file, such
that each value of the environmental covariate (rain) will be a time-specific individual covariate, with
the values of those covariates repeated for all of the individuals in the data set.

The easiest way to explain is this be demonstration. First, here are the top few lines of the full
dipper encounter history file (which consists of 294 individuals). There are 2 frequency columns after
the encounter history — the first column corresponds to males, while the second corresponds to females.

The first few lines of the . INP file happen to be for male individuals.

1111110 1 0;
1111000 1 0;
1100000 1 0;

Now, all we need to do is enter the environmental covariates as a set of time-specific individual
covariates.
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Here is what the modified . INP file will look like (ed_mod. inp) — again, we’ll only show the first few
lines of the file:

1111116 106 1 10 8 15 3  6;
1111000 1 06 1 10 8 15 3 6;
1100000 1 ¢ 1 10 8 15 3  6;

OK, now that we have this modified .INP file, start a new project in MARK start a new project — 7
occasions, 2 attribute groups (males and females), and 6 individual covariates, which we’ll refer to as
{r1,r2,..r6}, corresponding to time interval 1, time interval 2, and so on.

We'll start by fitting model {¢, p } — in other words, no sex differences in ¢, but ¢ allowed to vary
over time, t. Encounter probability, p, is constant over time, with no sex differences.

To make our lives simpler, we'll build the underlying parameter structure for our starting model
using the following PIM chart (we’ll assume that by now you know how to do this). Then, we’ll build
the DM corresponding to this PIM structure — again, this should all be familiar territory:

Go ahead and run this model, and add the results to the browser.

Next, we want to modify the DM to constraint ¢ to be a linear function of rain. Recall from Chapter
6 that all we need to is (i) eliminate the time columns from the DM, and (ii) insert a column containing
the values for the environmental covariate, rain. The modified DM is shown at the top of the next
page.

B1
phi inte

Go ahead and run the model, and add the results to the browser:

Model AlCc Delta AlCc AlCc Weight Model Likelihood | MNo. Par. Deviance
{phi{rain}p(.} 6727933 0.0000 0.64619 1.0000 3 666.7364
{philtip(.)} - DM} 673.9980 1.2047 0.35381 05475 7 659.7301

If we look at the f estimates, we see that the linear model for apparent survival is

logit(p) = 0.3027129 + (—0.0076410)(rain).
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7

So, as rain increases, apparent survival decreases, since the estimate for the coefficient for the ‘rain
covariate is negative.

But, now, we’d like to plot this relationship, using MARK. To do this, we're first going to duplicate
model {¢, . p.}, but this time using our individual covariates corresponding to the environmental
covariates — recall that we named them {r1, r2,..., r6} when we set up the specifications for the analysis.

How do we modify the DM to use these individual covariates? Easy — simply remember that each
covariate is time-specific. In other words, r1 corresponds to interval 1, r2 corresponds to interval 2, and
so on. Keeping this in mind, then here is what our modified DM will look like:

Go ahead and run this model —let’'s name it ‘phi (ind rain cov)p(.)’. Let’s have a look at the browser:

*’\ Results Browser: Live Recaptures (CIS)

2=l L

= Jlez| 3w w2z A4 | oAl &[0
Model | Alce Delta AlCc AlCc Weight | Madel Likelihood | No.Par. | Deviance
{phifrain)p()} 6727933 0.0000 0.39254 1.0000 3 666.7364
{phi(ind rain caV)p(.)} 6727933 0.0000 0.39254 1.0000 3 666.7364
{phittip()} | 6739980 12047 0.21492 0.5475 7 659.7301

We see that the model deviance for model ‘phi(rain)p(.)” — built using the environmental
covariates ‘the usual way’, and the deviance of model ‘phi (ind rain cov)p(.)’, are identical. If you
compare reconstituted parameter estimates between the two models, they're also the same.

Simply put, the 2 models are equivalent, in all but one important way. Because model ‘phi (ind
rain cov)p(.)’ was built using individual covariates, we can use the individual covariate plotting
capabilities in MARK to plot the functional relationship — and the uncertainty in that relationship —
between the parameter (in this case, ¢), and the covariate (rain).

To generate the plot, simply click the ‘Individual covariate’ ploticon in the toolbar, which will
bring up the following window:

Individual Covariate Plot X

Model: {phifnd rin covip( )}

Title: |{phiﬁnd rain covip(Ji

Design Matrix Row: Design Matrix Row

Select Parameter to Plot

Individual Covanate to Plot

rl - Range of Individual Covarniate to Plot
2 Mirimum

3

rd Maximum

1]

6
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All youneed to do is pick any one of the 6 parameters to plot (1:Phi, 2:Phi,...), and (this is important)
the correct (matching) individual covariate. For example, parameter ‘1:Phi’ corresponds to the first
interval, which corresponds to time-specific individual covariate ‘r1’. Parameter ‘2:Phi’ corresponds
to covariate ‘r2’, and so on. It doesn’t matter which parameter you pick, but it does matter that you
pick the appropriate covariate it matches to. For present purposes, we'll select “1:Phi” and ‘r1’.

Individual Covariate Plot &J

Model: {philind rain covip( )}

Title: |{philﬁnd rain covp( )}
Design Matrix Row: B1*1 + B2*r1

Select Parameter to Plot

Individual Covariate to Plat
Range of Individual Covariate to Flot

r2 Mirimum |4
r3
r4 Maximum [q
r5
6

Now, notice that on the far right-hand side, the range for ‘r1” is shown as 1 for the minimum, and
1 for the maximum. That is because ‘r1” corresponds to the rain covariate for the first interval, which
was 1. Needless to say, if we don't adjust the range, the plot won’t be particularly interesting. Let’s
change the range to 1 for the minimum, and 20 for the maximum:

Individual Covariate to Plat
Range of Individual Covariate to Plot

r2 Minimum |4
r3

rd Maximum |2
]

]

All that remains is to generate the plot. Click the ‘0K’ button and we get exactly the plot we're after
— the basic function, and the uncertainty represented by the 95% CI:
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But, the Dipper data set contains encounter data for both males, and females. Why does the plot
contain only a single line? In other words, how do you generate a separate plot for both males and
females? In fact, this is covered in section 11.8.2.

end sidebar
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11.6. Missing covariate values, time-varying covariates, and
other complications...

Several strategies for handling missing individual covariates are available. Probably the best option is
to code missing individual covariate values with the mean of the variable for the population measured.
Replacing the missing value with the average means that the mean of the observed values will not
change, although the variance will be slightly smaller because all missing values will be exactly equal
to the mean and hence not variable.

The easiest way to accomplish this in MARK is to use the ‘standardize covariates” option — if you
compute the mean of the non-missing values of an individual covariate, and then scale the non-missing
values to have a mean of zero, the missing values can be included in the analysis as zero values, and
will not affect the value of the estimated  term. (note: we don't advise this trick for a covariate with a
large percentage of missing values because you have no power, but this approach does work for a “small’
number of missing values).

If you have lots of missing values, another option is to code the animals into 2 groups, where all the
missing values are in one group. Then, you can use both groups to estimate a common parameter, and
only apply the individual covariate to one group. This approach can be tricky, so think through what
you are doing before you try it.

What about covariates that vary through time? In all our examples so far, we’ve made the assumption
that the covariate is a constant ‘fixed” value over the sample period. But, clearly, this will often (perhaps
generally) not be the case. For example, consider body mass. For perhaps most species, body mass
typically changes dynamically over time, and if we believe that body mass influences survival or some
other parameter, then we might want to constrain our estimates to be functions of a dynamically
changing covariate, rather than a static one (typically measured at the time the individual was initially
captured and marked). You can handle time-varying covariates in one of a couple of ways.

First, you can include time-varying individual covariates in MARK files, but you must have a value
for every animal on every occasion, even if the animal is not captured. Typically, you can impute these
values if they are missing (not observed), but be sure to recognize what this imputation might do to
your estimates. As demonstrated in the preceding -sidebar-, you implement time-varying individual
covariates just like any other individual covariate, except that you have to have a different name for each
covariate corresponding to each time period. ’

For example, suppose you have a known fate model (which we’ll cover in chapter 17) with 5 occasions,
and you have estimated the parasite load for each animal at the beginning of each of the 5 occasions.
The 5 values for each animal are contained in the variables v1, v2, v3, v4, and v5.

A design matrix that would estimate the effect of the parasite load assuming that the effect is constant
across time would be:

vl
v2
v3
va
v5

= = R

The second f estimate is the slope parameter associated with the time-varying individual covariates.
Note that you do not want to standardize these individual covariates, because standardizing them will
cause them to no longer relate to one another on the same scale (making a common slope parameter
nonsensical). Each would have a different scale after standardizing. If you need to standardize the
covariates, you must do so before the values are included in a MARK encounter histories input file, and
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you must use a common mean and standard deviation across the entire set of variables and observations.

The following design matrix would build a model where you assume the effect of parasite load is
different for each interval, but with the same survival probability for animals with no parasites (i.e., the
same intercept).

1vli 0 0 0
1 ov2 0 0
1 06 0v3 0
1 0 0 0 v4
1 06 06 0 0 v5

[SERSENS RS

The following model would allow different survival probabilities for each interval (i.e., time-specific
survival), but assumes the same impact of parasites on survival on the logit scale (assuming that a logit
link function is used). In other words, same slope, different intercept for each interval:

11000Vl
10100 v2
10010 v3
10001 v4
10000 v5

Finally, a DM like the one shown below would allow a completely different survival probability and
parasite effect for each occasion:

ovl 0 0 0
0 ov2 0 0
0 0 0v3 0
1 0 0 0 v4
0 0 0 0 0 v5

0
0
0
0

)
S OO0 O
(SRR I S o]
S O O

which is equivalent to specifying a separate function for each interval — this is perhaps illustrated
in a ‘more obvious’ fashion in the following DM, which is equivalent to the one above (although
interpretation of the § terms is clearly different).

1vi 06 ¢ 0 0 0 0 0 0
0 0 1v2 0 0o 0 0 0
o 06 0 0 1v3 0 0 0 0
o 0 0 0 0 1vd 0 0
O 06 06 0 0 0 0 0 1v5

Alternatively, you can ‘discretize’ the covariate, and use a multi-state model (chapter 10) to model
transitions as a function of the covariate ‘class’ the individual is in. For example, suppose you believe
that survival from time (i) to (i+1) is strongly influenced by the size of the organism at time (i). Now,
size is clearly a continuously distributed trait. But, perhaps you might reasonably classify each marked
individual as either ‘large’, ‘average’, or ‘small” size. Then, each individual at each occasion is classified
into one of these 3 different size classes, and you use a multi-state approach to estimate the probability
of surviving as a function of being in a particular size class. If the covariate is not measured (typically,
if the individual is not captured), then the missing value is accounted for explicitly by including the
encounter probability p in the model. Moreover, you would also be able to look at the relationship
between survival as a function of size, and the probability of moving among size classes.
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Sounds reasonable, but you need to consider a couple of things. First, in applying this approach, you
are discretizing a continuous distribution, and how many discrete categories you use, and how you
decide to partition them (e.g., what criterion you use to define a ‘large’ versus ‘small” individual), may
strongly influence the results you get. However, when there are a large number of missing covariate
values, or if discretizing seems ‘reasonable’, this is a robust and easily implemented approach. Second,
you might need to be a bit ‘clever’ in setting up your design matrix to account for trends (relationships)
among states, as we'll see in the following worked example.

Finally,and perhaps more elegantly, Simon Bonner, building on a solution first proposed by Catchpole
et al. (2008), has described the use of a ‘trinomial” mark-live encounter-dead recovery to handle missing
covariates, without requiring the arbitrary discretization of the covariates required by the multi-state
approach as just described (Bonner 2013). The ‘trinomial approach’ is based on re-structuring the
likelihood for each individual, by modeling only the events that follow the release of each marked
individual. The resulting likelihood depends only on the observed values of the covariate. This approach
isboth clever, and practically useful, but also reinforces some of the models and ideas presented in earlier
chapters (in particular, the live encounter-dead recovery models introduced in Chapter 9).

In the following, we discuss examples of both the multi-state and trinomial approaches to the problem
of time-varying individual covariates when p < 1.

11.6.1. Continuous individual covariates & multi-state models...

Let’s work through an example — not only to demonstrate an application of multi-state modeling to this
sort of problem (giving you a chance to practice what you learned in Chapter 10), but also to force you
to think deeply (yet again) about the building of a design matrix.

Consider a situation where we believe there is strong directional selection on (say) body size, where
larger individuals have higher survival than do smaller individuals. Suppose we have categorized
individuals as ‘small’ (S), ‘medium’ (M) and ‘large” (L). For this example, we simulated a 6-occasion
data set (ms_directional.inp) according to the parameter values for ‘size-specific survival’ tabulated
at the top of the next page. If you look closely, you'll see that within each interval, the difference in the
latent survival probability used in the simulation differs by a constant multiplicative factor such that
there is a linear increase in survival with size.

interval
state 1 2 3 4 5

S 0500 0.700 0.600 0.700 0.700
M 0525 0749 0.624 0.749 0.749
L 0551 0.801 0.649 0.801 0.801

However, if you look even more closely, you'll note that the rate of this increase in survival with
size is not constant over intervals. So, imagine that for each time interval, you calculate the slope of the
relationship between survival and size. This slope should show heterogeneity among intervals (i.e., the
strength of directional selection on size varies over time).

To make things ‘fun’ (i.e., more realistic) we'll also specify some size-specific transition parameters:
from
S M L

S 07 00 00
to M |02 08 0.0
L |01 02 10
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So, small (S) and medium (M) individuals can stay in the same size class or grow over a given interval,
but individuals cannot get smaller. We’ll assume that the encounter probability for all size classes and
all intervals is the same; however, to make this even more realistic, we’ll assume that p = 0.7 for all size
classes —since p < 1, then we have ‘missing covariates’.

So, start MARK, and begin a new ‘multi-state’ analysis: select the ms_directional.inp file, and
specify 6 occasions, and 3 states: S, M, L. We'll start with a general model with time-dependence in
survival,among states,and among time intervals. We’ll make the encounter parameter p constantamong
states and over time, and will make ¢ constant within state.

This general structure is reflected in the following PIM chart:

Parameter Index Matrix Chart: Multistrata with Live Recaptures

Initial Renumber Open Parameter Index Matrix  Help

Psi Lto M Group 1

Psi Lto S Group 1

Psi Mto L Group 1

Psi Mto S Group 1

Psi Sto L Group 1

Psi Sto M Group 1

p Llarge Group 1

p M:medium Group 1

p Ssmall Group 1

5 Llarge Group 1

5§ M:medium Group 1

S S:small Group 1

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22

Parameter Index

Now, before we run this model, we have to consider if there are any parameters we need to fix (due to
logical constraints). As noted earlier, some of the transitions are not possible; specifically, "° = p**' =
I{JLS = (. Thus, looking at our PIM chart, we see that this corresponds to setting parameters 19, 21 and
22 to 0.

Go ahead and fix these parameters in the numerical estimation setup window. Call this model
‘s(state*time)p(.)psi(state)’, run it, and add the results to the browser. If we look at the estimates,
we'll see that, by and large, the values are consistent with the underlying model structure.

OK - on to the ‘clever” design matrix we alluded to before. The model we just fit is a naive model,
as far as our underlying hypothesis is concerned — it is a model which simply allows the estimates for
survival to vary among states, and over time. In essence, a simple heterogeneity model. By itself, this
is not particularly interesting, although it is arguably a reasonable null model.

But, we're interested in a particular a priori hypothesis: specifically, that survival increases with size.
We may also suspect that the strength (magnitude) of this directional selection favoring larger sized
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individuals varies over time. So, what we want to fit is a model where, within a given interval, survival
is constrained to be a linear function of size (i.e., follow a trend), and that the slope of this trend may
vary over time.

So, here’s the tricky bit — in effect, we’re now going to treat each time interval as a group, and ask
if the slope of a relationship between survival and size varies among levels of this group (i.e., among
time intervals). So, we need to figure out how to do two things: (1) build a design matrix where each
time interval is a group, and (2) within a time interval, have survival constrained to follow a trend with
size among states (i.e., an ordinal constraint on survival with increasing size). How do we do this?

Well, with a bit of thought, you might see your way to the solution. First, start by writing out the linear
model. We know we need an intercept (5;). There are 6 occasions, so 5 time intervals, meaning we need
4 columns in the design matrix to code for the TIME grouping (8, — fs5). Next, we want to impose
a TREND over states. Recall from Chapter 6 how we handled trends: a single column consisting of an
ordinal series. So, for TREND, one column (8;). Next, the interaction term of TIME and TREND - (4 X 1) = 4
columns for the interaction terms (8, — f7)- So, for the survival parameter,

5=p
+ Bo(T1) + B3(T2) + B4(T3) + B5(T4)
+ B (TREND)
+ B,(T1.TREND) + fg(T2. TREND) + Bo(T3.TREND) + f3,,(T4 . TREND)

Now, encounter probability p is constant among states and over time, so one column (f;;) for that
parameter. For the 1) parameters, one for each of the estimated transitions. Remember that if there are n
states that there are n(n — 1) estimated transitions, then for 3 size states, 3(3 —1) = 6 transitions, meaning
6 columns (B, — B17). So, in total, our design matrix should have 17 columns. So, we tell MARK we
want to build a “ reduced design matrix, with 17 columns. MARK will then respond by giving us a
‘blank’ design matrix with 17 columns.

Starting the process of specifying our design matrix is easy enough: a column of 15 ‘1’s for the
intercept. Then, looking back at our linear model, we see that we next want to code for the 5 TIME
intervals: 4 columns (f; — ). We use the same coding scheme we’re familiar with — all we want to do
is make sure the dummy-variable structure unambiguously indicates the time interval:

Diesign Matrix Specification (B = Beta)

B3 B4 B3
T2 T3 T4 B6 B7 B3 B3 Pam

mEe

1:5 S:=mall
2:5 S:zmall
3:5 5:small
4:5 S:zmall
5:5 5:small
6:5S M:medium
7:5 M:medium
8:5 M:medium
9:5 Mmedium
10:5 M:mediun
11:5S Liarge
12:5 Llarge
135S Liarge
14:5 Llarge
155 Llarge ||,
: >-. J

[=H)=0 — E=RE=RN=RE=0 — E=NE=RE=RE=0 — E=NE=|
olo|lo|lo(lolo|jo|lo|lo|lao|lo|(o(ao|a|a
olo|lo|lo(lolo|jo|lo|lo|lao|lo|(o(ao|a|a
olo|o|lo|o|lo|lo|lo|lo|lo|o|(o|(o|o|=

=1 — E=RE=RE=RN=N — E=RE=NE=RE=N — N=NNE=NN=|
o|lo|lo|lo(lo(lo|o|o|lo|lo|lo|(o(a|a|a
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So far, so good. Now, for the ‘hard part’. We now need to code for TREND. But, remember, here, we're
not coding for TREND over TIME, but rather, TREND over states within TIME. You might remember that if
we have 3 levels we want to constrain some estimate to follow a trend over, then we can use the ordinal
sequence 1,2, and 3 as the TREND covariate (check the relevant sections of Chapter 6 if you're unsure
here). But, where do we put these TREND coding variables?

The key is remembering — TREND among states within TIME interval. So, here is how we code TREND for
this model:

Design Matrix Specification (B = Beta)

[
B7 B3 B3 Pam

1 0 i} i} 1:5 S:small

1 0 i} i} 2.5 S:small

1 0 o o 3:5 S:small

1 0 i} i} 4:5 S:small

1 0 i} i} 5:S S:small

2 0 o o 6:5 Mmedium
2 0 i} i} 7:5 Mmedium
2 0 i} i} £:S M:medium
2 0 o o F:5 Mmedium
2 0 i} i} 10:5 M:mediu
3 0 i} i} 11:5S Liarge
3 0 ] ] 12:5 Llarge
3 0 ] ] 13:5 Llarge

3 0 i} i} 14:S Llarge

Remember, TREND among states within TIME interval. So, for the first interval for the 3 states, corre-
sponding to rows 1, 6, and 11, respectively, we enter 1, 2 and 3. Similarly, for the second interval for the
3 states, corresponding to rows 2, 7, and 12, respectively, we again enter 1, 2 and 3, and so on for each
of the intervals. Think about this — remember, TIME is a grouping variable for this model.

After all this, the interaction terms (and the encounter and transition parameters) are straightforward
(the full design matrix is shown below):

Design Matrix Specification (B = Beta)

Bs | B3 | BI1D 5
T3TR| T4TR am

1:5 S:small
2:5 Ssmall
3:5 S:small
4:5 S:small
5:5 S:small
6:5 Mmedium
7:5 Mmedium
8:5 Mmedium
3:5 Mmedium
10:5 M:medium
11:5 Llarge
125 Llarge
13:5 Llarge
14:5 Llarge
15:5 Llarge
16:p Ssmal
17:PsiSto M
18:PsiSto L
19:Psi Mto 5
20:Psi Mto L
21:PsiLto §
22PsiLto M

E11 B12 | B13 | B14 ( B15 [ B16 [ BI17

BIEIEIE - BEEEE - B

BIEIEIGE -~ BEEEE - BEEE

olo|lo|lalo|laa|la|la|la|lala|ala|o

BIGEEEEEEEEEEEEEEE

olo|lola|lo|lala|lala|la|lala|la|la|a|lala

olo|lolo(o|la(o|o|lo|o|lala|ala|ja|ala|a

olo|lo|lo(o|lo(o|o|lo|lo|lalo|a|o|o|a|la(a|a

ol aola(o|a|la|la|lala|la|la|a|lala|a|laa|a|a

oiojo o|lo|lo(lo|lo(o|o|lo(lo|la|(o|ja|la|o|la|lala|lo

SBIEIGEIGEEIEEEGE - BEEE - BEEEE - B

olo|lala|lala(la|a|la|a
BIEEEEEE -
olo|lalo|o|la(o|ao|o|o [
BIEIEEEEEEE -
olo|lalojala[a|o B
olo|lalo[ala

olo|lala|a
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Go ahead and run this model — call it ‘s(time*trend)p(.)psi(state)’, where the time*trend part
indicates an interaction of the trend among TIME intervals. Run the model, and add the results to the
browser. Then, build the additive model (by deleting the interaction columns from the design matrix)
— call this model ‘s(time+trend)p(.)psi(state)’, and again, add the results to the browser.

"I Results Browser: Multistrata with Live Recaptures [Z]@
EEEEEEEEEESEY

AlCz Delta AlCz AlICc Weight | Model Likelhood | Ma. Par. Deviance
{Stimetrend)p( Jpsi(strata)} 128336.4475 0.0000 0.95450 1.0000 14 885.3676
{slstratatime)p Jpsilstrata)} 128342 5536 6.1061 0.04509 0.0472 15 881.4664
{Sttime+trend)p( Jpsilstrata)} 128358.7639 223164 0.00001 0.0000 10| 9156870

We see clearly that our model constraining survival to show a trend among states, with full interaction
among time intervals, is by far the best supported model. Of course, this isn’t surprising, since the data
were simulated under this model.

So —a fairly complex example of using a multi-state approach to handle covariates which vary through
time. And, yet another example of why it is important to have a significant level of comfort with design
matrices — unless you do, you won’t be able to build the ‘fancy models” you'd like to.

11.6.2. the ‘trinomial likelihood’ approach...

Here, we analyze the simulated example data that accompany Bonner (2013). As noted earlier, the
trinomial approach conditions only on these events that occur after occasions when the individual
is live captured (encountered) and released (in other words, if you live encounter an individual, and
presumably measure the covariate, what happens in the interval immediately following the encounter-
live release event).

Following Catchpole ef al. (2008), there are 3 possible fates in the interval following a live encounter
at occasion i: (i) the individual is not captured alive on the next occasion, (i + 1), nor is it recovered dead
over the interval following the release, from i — i + 1) (we will code this as 0); (ii) the individual is
encountered alive at the next occasion, (i + 1) (we will code this as a 1); (iii) the individual is recovered
dead over the interval from (i — 7 + 1) following the live encounter-release at occasion i (we will code
this as a 2).

Consider the following coded encounter history:
‘11012’

This individual was first encountered live at occasion 1, presumably marked and live released. It was
then subsequently live encountered at occasion 2, released live, not encountered (in any way) either at
occasion 3, or over the interval from 2 — 3, was encountered live at occasion 4, and then encountered
as a dead recovery over the interval from 4 — 5.

Now, suppose that at each live encounter (occasions 1, 2 and 4) we measured some covariate, and
that the standardized covariate values were 1.62, —1.26, and —0.28, respectively. In a standard MARK
input file, the encounter history containing the covariate data would look like the following (here, we
use a ‘dot’ to indicate the missing value — occasions when the individual wasn't live encountered, and
covariate not measured as a result):

11012 1 1.62 -1.26 . -0.28 .;
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The ‘trinomial approach’ requires some re-formatting of these encounter data, transforming into
a ‘live-encounter-dead recovery history’, for each of the intervals following a live encounter. First,
recall from Chapter 9 that the live encounter-dead recovery data are code using the LDLD format. In
other words, for each ‘year’ (interval) following a live sampling event, the marked individual could be
encountered live, or dead (or both). The ‘LD’ represents encountered live (L) or dead (D). So, part of the
process is to take each interval after a live encounter event, for time i to i + 1, and transform it into a
single LDLD pair. The first LD in the pair corresponds to the sampling event at i and the interval from
i — i+ 1), and the second LD pair corresponds to occasion i + 1.

The following table will make it clear what we’re about to do, as a first step. Consider an individual
live encountered at time i. As noted above, there are 3 possible fates over the interval fromi — i +1: 0
(not encountered in any way), 1 (live encountered at i + 1), or 2 (dead recovery over the interval from
i — i+ 1). So, the translations from the ‘event’ (9, 1 or 2) to the LDLD pair are:

event LD coding
0 — 1000
1 — 1010
2 — 1100

OK, that’s step 1 — understanding the translation from event to LDLD. Next, we have to ‘split apart’
the individual encounter history (‘11012’) into 3 separate LDLD histories, one corresponding to each of
the 3 occasions where this individual was live encountered. Each of these 3 separate LDLD histories will
be entered as a separate line in the reformatted encounter history file.

But, how do we handle ‘time’ in the formatting? If we simply generate an LDLD pairs for each live
encounter event, how do we keep track of when the encounter events actually occur? Solution — we
code each encounter time as a ‘group’. So, for our example history (‘11012"), we see that there are 5 live
encounter occasions, so, 4 ‘sampling intervals’. In other words, we’ll need to code 4 ‘time groups’. Note
that for our example history, there were live encounters at occasions 1,2 and 4.*

Following from Table 1 in Bonner (2013), here is ours example encounter history, recoded into LDLD
pairs, using ‘time groups’ to indicate the sampling occasion/interval. Remember — each live encounter
event is coded as an LDLD pair, as a separate line in the reformatted encounter history file. For our
example, 3 live encounter events, 3 separate LDLD coded lines in the reformatted file (the ‘time group’
coding is shown in green font):

event history LD coded history ‘time group’

11012 — 1010 1 0 0 0  (live encounter occasion 1, ‘time group”’ 1)
1000 0 1 0 @  (live encounter occasion 2, ‘time group’ 2)
1100 0 @ @ 1  (live encounter occasion 4, ‘time group’ 4)

Look closely — make sure you see exactly what we’ve done here, and how the “time group’ coding
indicates the interval after each live encounter event.

Finally, the individual covariates (being ultimately the point of the exercise). Recall that for this
individual, the covariate values of 1.62, —1.26 and —0.28 were obtained at each of the 3 live encounter
events (occasions 1,2 and 4). Since each live encounter event for an individual is treated as an individual

* Also, don’t get tripped up here thinking about ‘time’ in the way that we do when coding it in the design matrix. In that case, for
k intervals, you need k — 1 columns to uniquely code for each interval, using 0/1 dummy variables. Here we are using ‘groups’
to indicate explicitly which ‘time interval” the encounter occurs in — we have a separate column for each ‘time group’, just like
we might have (say) a separate column for males and females for a ‘gender group’.
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record (line) in the file, we simply tack on the covariate value for each live encounter event at the end
of the corresponding line in the file (as shown below — covariate in blue font):

event history LD coded history

11012 —> 1010 100 0 1.62;
1000 0 10 0 -1.26;
1100 0 0 0 1 -0.28;

Here are a couple of more examples —its very important you see the connection between the original
encounter (event) history, and the reformatted histories:

event history  covariates LD coded history
11100 0.48,-0.45,0.00, -, - 1010 1 0 0 0 0.48;
1010 0 1 0 0 -0.45;
1000 0 010 0.00;
10102 0.34,-,-2.61,-,- 1010 1 0 0 0 0.48;
1010 0 1 0 0 -0.45;
1000 0 010 0.00;

Note that all of the reformatted LD coded histories are 4 characters wide (i.e., a single LDLD pair), no
matter how many occasions there are in the original event history (in our examples, above, there were
5 sampling occasions). And, also note that the maximum number of entries (lines) for an individual
in the reformatted file is the number of sampling intervals, if the individual was encountered at each
sampling occasion. And finally, note that we're coding only the interval after the live encounter occasion
— this means that the second D of the LDLD pair (indicated here in blue, bold font) has to be fixed to 0
(since this second D refers to the second interval; this becomes important when we actually analyze data
in MARK).

Once you have your brain wrapped around what the re-formatting is doing, there is the pesky
problem of ‘mechanics’. It is probably obvious that you really don’t want to do the re-formatting by
hand, and probably also obvious you don’t want to spend much time writing your own code to reformat
your data. Fortunately, Simon Bonner has written an R package (tRiMark), which will handle the bulk
of the re-formatting for you. We won't describe it here — consult the package documentation on your
own.

The re-formatted data we’ll analyze are contained in trinomial. inp (see Bonner (2013) for the details).
The original, pre-formatted data consisted of encounter data over 5 sample occasions, so 4 intervals, and
thus 4 ‘time group’ frequency columns in the input file. Here are the first few lines of trinomial. inp:

1010 1 0 0 0 0.24 ;
1000 0 1 0 0 -0.03 ;
1010 1 0 0 0 0.48 ;
1010 0 1 0 0 -0.45 ;
1000 0 0 1 0 0 ;

1010 1 0 0 0 0.22 ;

The data were simulated under a true generating model where survival was a linear function of a
single continuous covariate, with no temporal variation in the relationship (i.e., variation in survival is
a function of variation in the covariate only). There was temporal variation for both live encounter and
dead recovery probabilities. The true parameter values can be found in Table 2 in Bonner (2013).
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OK, we're finally ready to start or analysis in MARK. To begin, we need specify that we're using
a‘Joint Live and Dead Encounters | Burnham’ data type (Chapter 9; as discussed in Bonner (2013),
the trinomial approach could be extended for other permutations of the ‘live encounter-dead recovery’
data type, but we’ll focus on the simple Burnham model here).

Now, a bit of thought needed. We need to ‘tell’ MARK the number of encounter occasions, the number
of groups, and the number of covariates. For the trinomial analysis, where the data are re-formatted to
LDLD pairs, the number of occasions for each record (line) in the input file is 2. The number of groups
is 4 (corresponding to each of the 4 intervals in the 5 occasion study). We'll call them t1, t2, t3 and t4,
respectively. And finally, there is (for this example) a single covariate (which we’ll simply call cov1):

Simuezt:::;wes (CIS) Title for this set of data:
¢ Dead Recoveries |simulated tinomial data
@' Joint Live and Dead Encounters Encounter Histories File Name Click to Select File View File
@ [l |C:\U5er5\egc\Desktop\trinomial.inp
" Closed Captures
" Robust Design Results File Name:
" Muttistate Recaptures only |C:\U5ers\egc\De5}dop\trinomial.DBF
" Jolly-Seber
" Pradel Models Including Robust Designs
" Barker Robust Design Encounter occasions: '2_ il Set Time Intervals Default Time Intervals Used
®REEN Mtribute groups: '4_ = | Erter Group Labels Group Labels Set
" VPA - Virtual Population Analysis =
™ Mest Survival Individual covariates: '1_ il Covarate Names Set

Here is the default PIM structure:

Parameter Index Matrix Chart: Joint Live and Dead Encounters (Burnham) [

Initial Renumber Open Parzameter Index Matrix  Help

Fid

Fi3

F12

Ft1

rtd

r3

2

rt1

pt4

btz

pi2

Close 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19 20 21 22 23 24
Parameter Index

Pretty densely packed, but if you look closely, note that there are two parameters for survival (S) and
recovery (r), for each of the 4 ‘time groups’, whereas there is only a single parameter for live encounter,
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p, and fidelity, F, for each of the same’time-groups’.

If you think about it for a moment, this should make sense. For a single LDLD pair, there are in fact
2 survival ‘intervals’, and 2 recovery ‘intervals’. On the other hand, for a single LDLD pair, where we're
conditioning on a live encounter for the first L, there is only one subsequent live encounter possible,
and only time step to estimate fidelity.

However, recall from above that we need to think a bit about the second LD pair — specifically, we need
toremember that we’ll need to fix the recovery probability for this second pair (i.e.,second interval coded
in the pair) to 0.

Also, with a bit more thought, you might realize (remembering from Chapter 9), that the fidelity
parameter needs to be fixed to 1. We have to assume that over the LDLD pair, the individual says in the
sample — because the LDLD pair is conditional on just that — the individual record in the input file is
conditional on the live encounters, which can only occur if the individual is in the sample.

So, we start by simplifying the PIMs a bit, reflecting both the ‘logic constraints’ we noted above, and
our knowledge of the true generating model for these encounter data. First, we’ll drag all the fidelity
parameter ‘boxes” so they overlap, and then drag all of them over to the left. Since we’re always going to
fix this parameter to 1, it is convenient to move them all over to the left, so that we don’t have to worry
about the parameter indexing for fidelity changing if we change the structure for the other parameters.
And, since the data were simulated assuming no temporal variation in survival, apart from variation
induced by the covariate, we'll make survival constant, and overlap the boxes over all ‘time groups”:
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All we now need to do is to remember that fidelity, F (parameter 1, above) will need to be fixed to 1,
and that the second r parameter for each ‘time-group’ will need to be fixed to 0 for all of the models. Go
ahead and fix the recovery (r) parameters to 0, and the fidelity (F) parameter to 1, and run the model
(we'll call it ‘starting model - PINM'), using the logit link, and add the results to the browser.

Next, we remember that in order to consider individual covariates, we need a model based on the
design matrix (DM). One (of many) possible DM corresponding to the model we just constructed using
PIMs, is shown at the top of the next page.
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Design Matrix Specification (B = Beta)
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If you run this DM-based model (we’ll call it ‘starting model - DM —remember to fix the appropriate
parameters first), you'll get the same fit statistics as with the PIM-based model we ran initially (if not,
you've made a mistake somewhere).

Now that we have a DM-based model, we can add our covariate (covl). Since we're only interested
in the relationship of the covariate to survival, the modification to the DM is straightforward (as shown
below) — we can leave everything else in the DM the same:

B1: B2 B3 B4: B5: | B6: | BT: P
F indiv cov : p-incpt pl p2 | p3 =

If we run this model (we'll call it ‘starting model - covariate’), and add the results to the browser,
we see (below) that the model with the covariate does much better than the starting model without the
covariate (which is not surprising, given this was the model under which they data were simulated in
the first place).

Model AlCc Delta AlCc AlCc Weight No. Par. Deviance -2Log(L)
{starting model - covariate} 12203347 0.0000 1.00000 9 1211.1758 1211.1758

{starting model - PIM} 1306.3642 77.030M 0.00000 8 1280.2377 12802377
{starting model - DM} 1306.3642 77.03M 0.00000 2 1280.2377 12802377

So, the trinomial approach, using a live encounter-dead recovery data type, is yet another way to
handle temporally varying covariates when p < 1. Bonner (2013) is the canonical reference to this
approach as implemented in MARK, and the larger literature on time-varying covariates.
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11.7. Individual covariates as ‘group’ variables

Suppose you were interested in whether or not survival probability differed between male and female
dippers. Having come this far in the book, you’ll probably regard this as a trivial exercise — you specify
the PIMs corresponding to the two sexes, perhaps construct the corresponding design matrix, and
proceed to fit the models in your candidate model set. This is all fairly straightforward, and easy to
implement - in part because the problem is sufficiently ‘small” (meaning, only two parameters, relatively
few occasions, only two groups) that the overall number, and complexity of the PIMs you construct (and
the corresponding design matrix) is small. But, as we’ve seen, especially for ‘large” problems (many
parameters, many occasions, many PIMs), manipulating all the PIMs and the design matrix can become
cumbersome (even given the convenience of manipulating the PIMs using the PIM chart).

Is there an option? Well, as you might guess, given that this chapter concerns the use of individual
covariates, you can, for a number of categorical models, use an alternative approach based on individual
covariates. Such an approach can in some cases be easier and more efficient to implement. We'll consider
a couple of examples here, starting with the dippers.

11.7.1. Individual covariates for a binary classification variable

Let’s consider fitting the following 3 candidate models to the data collected for male and female dippers:

{pgir.t Aeguir.} {ogr.},

where g is the ‘grouping’ variable —in this case, sex (male or female). Recall that the dipper data (ed. inp)
consist of live encounter data collected over 7 encounter occasions. We specify 2 attribute groups in the
data type specification window in MARK (which we’ll label m and £, respectively), and proceed to fit
the three models in the candidate model set.

To specify the underlying parameter structure for our general model {¢,,, p.}, we’ll use fully time-
dependent PIMs for survival, and constant PIMs for the encounter probability:

Parameter Index Matrix Chart: Live Recaptures (CJS)
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with the following corresponding design matrix:

Il Design Matrix Specification: Live Recaptures (CJS)
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We'll skip the details on how to modify this design matrix to specify the remaining two models in
the model set (you should be pretty familiar with this by now).

The results of fitting the three models to the dipper data are shown below:

Madel AlCc Delta AlCc AlCc Weight Maodel Likelihood | Ma. Par. Deviance
{philg)p() - DM} 6727331 0.0000 0.83484 1.0000 3 24,1991
{phi{g=t)p() - DM} £75.9945 32614 0.16346 0.1958 8 TIATI0
{philg (.} - DM} 6851244 12.3913 0.00170 0.0020 13 75.7638

Now, let’s consider using an individual covariate approach to fitting the same three models to the
dipper data. Our first step involves reformatting the input file. We need to reformat the input file to
specify gender as an individual covariate. Much like with the design matrix, you need to consider how
many covariates you need to specify group (in this case, sex). Clearly, in this case, the grouping variable
is binary (has only two states), and thus we need only a single covariate to indicate group (sex).

How do we reformat our data, using a single covariate to indicate sex? We’ll use ‘1’ to indicate males,
and ‘0’ to indicate females. Now, we reformat the dipper data as follows — consider the following table
of different encounter histories (selected from the original ed. inp file in ‘standard’ format), which we’ve
transformed to use an individual covariate approach:

standard reformatted
1111110 1 0; 1111110 1 1;
1111100 0 1; 1111100 1 0;
1111000 1 0; 1111000 1 1;
1111000 0 1; 1111000 1 0;
1101110 1 0; 1101110 1 1;

Chapter 11. Individual covariates



11.7.1. Individual covariates for a binary classification variable 11-48

The key is to remember that under the original ‘standard” formatting, there is one column in the
input file for each of the groups: two sexes, two columns following the encounter history itself. So, a ‘1
0’ indicates male (1 in the male column, 9 in the female column), and a ‘@0 1’ indicates a female (9 in the
male column, 1 in the female column). When using an individual covariates approach, you have only
one column for the covariate.

But, notice there are 2 columns after the encounter history. Why? Don’t we need just 1 covariate
column? Yes, but remember that we also need a column of “1’s’ to indicate the frequency of number of
individuals with a given encounter history (and since we’re working with individual covariates, each
encounter history corresponds to one individual, hence the frequency column has a ‘1" in it for each
individual history). The first column after the encounter history is the frequency, and the second column
is the covariate column for group (sex). So, a male in the original file (indicated by ‘1 @") becomes 1
1" in the reformatted file, and a female in the original file (indicated by ‘0 1’) becomes ‘1 0’ in the
reformatted file. The reformatted data are contained in the file dipper_ind.inp (we'll leave it to you to
figure out an efficient way to transform your data from one format to the other).

Now, when we specify the data type in MARK, we do not indicate 2 attribute groups, but instead
change the default number of individual covariates from 0 to 1. We'll call this covariate s (for sex). If we
make the encounter probability constant, the corresponding PIM chart should look like the one pictured
below:

Parameter Index Matrix Chart: Live Recaptures (CJS)
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Note that there are now only 6 parameters in the PIM chart for survival, instead of the 12 parameters
specified in the PIM chart of our general model using the standard input format. Obviously, we're going
to need to make up the difference somehow. In fact, you may have already guessed — by entering the
individual covariates into the design matrix.
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For our general model {¢,,; p.}, here is the corresponding design matrix using individual covariates:

Il Design Matrix Sp > Recaptures (CJS)

>l @) o @& 4] A

Design Matrix Specification (B = Beta)

We see that it has 13 columns, corresponding to 13 estimable parameters — we know from our initial
analysis that this model does indeed have 13 estimable parameters. From this design matrix, we can
build the other two models in the candidate model set:

{(pg+t P.}/ {(ng.}/

simply by deleting the appropriate columns from the design matrix (e.g., for the additive model
{®g++ p.}, we simply delete the interaction columns 8 — 12).

Here are the model fits for the 3 models, built using the individual covariates approach:

Il Results Browser: Live Recaptures (CJS)

DE =0kl D@ o =2 A 0] oA

AlCe Delta AlCc AlCc Weight | Model Likelihood | Mo. Par. Deviance
{philg)p() - ind covar} 6727331 0.0000 0.83484 1.0000 3 E6E.6762
{philg+t)p() -ind covar} 675.9945 32614 0.16346 0.1958 8 £55.6451
{philgt)p(} - ind covar} 6851244 123913 0.00170 0.0020 13 £58.2409

Compare them with the results obtained using the standard approach where sex was treated as an
“attribute group”:

Il Results Browser: Live Recaptures (CJS)

6 B8=0:x B = = s 5 SA

Model Delta AlCe AlCc Weight | Model Likelihood | Mo. Par. Deviance
Ié{phi(gb(.) - DM} 6727331 0.0000 083424 1.0000 3 24.1551
{phifg#t)p() - DM} 6759945 32614 0.16346 0.1958 8 77720
{philgtip() - DM} £85.1244 123913 0.007170 0.0020 13 75.7638

We see that the model AIC, values, and the number of parameters, are identical between the two.
However, the deviances are different. Does this indicate a problem? No — not if you think about it for
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a moment. If the AIC, values and the number of parameters are the same, then the likelihoods for the
models are also the same (since the AIC, is simply a function of the sum of the likelihood and the
number of parameters — if two out of the three are the same between the different analyses, then so
must the third (likelihood) be the same). In fact, if you look closely at the deviances, you'll see that
the difference between the deviances — which is related to the likelihood (as discussed elsewhere) — is
identical. For example, (666.6762 — 659.6491) = (84.1991 — 77.1720) = 7.0271.

So, the results are identical, regardless of the approach taken (attribute groups versus individual
covariates coding for groups). And, it is pretty clear that the number of PIMs and the design matrix
for the analysis using individual covariates is smaller (easier to handle, potentially less prone to errors)
when using individual covariates. As such, is there any reason not to use the individual covariate
approach to handling groups?

There are at least two possible reasons why you might not want to use the individual covariate
approach for coding groups. First, as discussed earlier in this chapter, execution time generally increases
for models involving individual covariates. For very large, complex data sets, this can be a significant
issue.

Second, and perhaps more important, while the individual covariate approach might simplify aspects
of building the models, in fact it complicates derivation (reconstitution) of group-specific parameter
estimates. For example, take estimates of ¢ from our simplest model, {¢ p.}. Using the standard
attribute group approach, the estimates MARK reports for male and female survival are ¢,, = 0.5702637
and ¢, = 0.5507352, respectively.

What does MARK report for the estimates for this model fit using the individual covariates approach?

= KEDIT - [C:\Documents and Settings\egc\Desktoplegc\books\mark\chapteri2\code\mrk8993z.tmp]
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Clearly, the reported estimates using individual covariates appear to be quite different. But, are
they? What does the value ¢ = 0.5601242 represent? What about the value 0.4795918 reported for
the sex covariate, s? How can we reconstitute separate estimates of apparent survival for both males
and females?

The key is remembering that this analysis is based on individual covariates. Recall that MARK defaults
to reporting the parameter estimates for the mean value of the covariate. In this case, the sex covariate
is 1 (indicating male) or 0 (indicating female). If the sex-ratio of the sample was exactly 50:50, then
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the mean value of the covariate would be 0.5. In fact, in the dipper data set, 47.96% of the individuals
are male. Does that number look familiar? It should — it is the value of 0.4796 reported (above) as the
average value of the covariate. And, the estimates of ¢ are the reconstituted values of survival for an
average individual. Thus, the value of 0.5601242 is essentially identical (to within rounding error) to the
weighted average of ¢, = 0.5702637 and ¢ = 0.5507352, which we obtained from the analysis using
attribute groups ([0.4796 x 0.5702] + [0.5204 x 0.5507]) = 0.5601) — here, the weights are the frequencies
of males and females in the sample (i.e., the sex ratio of the sample).

OK - fine, but that still doesn’t answer the practical question of how to reconstitute separate survival
estimates for males and females? The ‘brute-force” approach is to use a ‘user-specified covariate
value’, when you setup the numerical estimation. You do this by checking the appropriate radio button:

Real Far. Estimates from Individual Covariates
" First Encounter History Covariz

(" Mean Individual Covariate Wal
(+ Userspecified Covanate Value

Help Cancel Run|  [OKto Run |

Now, when you click the ‘0K to run’ button, MARK will ask you to specify the individual covariate
value for that model — in this case, either a 1 (for male) or 0 (for female). If we enter a “1’, run the model,
and then look at the reconstituted parameter estimates, MARK shows ¢ = 0.5703, which is exactly
what we expected for males. Similarly, if instead we enter a ‘0’ for the covariate value, MARK shows
¢ = 0.5507 for females, again, precisely matching the estimate from the model fit using attribute groups.

OK, that is a functional solution, but not one that is particularly elegant (it can also be cumbersome
if you have multiple levels of group, or a lot of interactions between one or more grouping variables
and - say — time). It also is somewhat devoid of ‘thinking’, which is rarely a good strategy, since not
understanding what MARK is doing when you “click this button’ or ‘that button” will catch up with you
sooner or later. The key to understanding what is going on is to remember from earlier in this chapter
how parameter estimates were reconstituted for a given value of one or more individual covariates.
Essentially, all you need to do is calculate the value of the parameter on the logit scale (assuming you're
using the default logit link), and then back-transform to the real probability scale. For model {¢, p.},
the linear model is

logit(p) = 1 + pa(s)
= 0.2036416 + 0.0792854(s).

So, if the value of the covariate is 1 (for males), then

logit(@,) = 1 + Ba(s)
= 0.2036416 + 0.0792854(1)
=0.282927,

which, when back-transformed from the logit scale to the normal probability scale,

60.282927

@m = Heow = 0570264,

which is identical (within rounding error) to the estimate for male survival MARK reports using either
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the attribute group approach, or by specifying the value of the covariate in the numerical estimation
using the individual covariate approach. The same is true for reconstituting the estimate for females.

While this is easy enough, it can get tiresome, especially if the linear model you're working with is
‘big and ugly’. Even for fairly simple models like {¢,,; p.}, the linear model you need to work with can
be cumbersome:

logit(¢) = By + Ba(s) + Ba(t1) + Balty) + Bs(t3) + Belts) + B7(ts)
+ Bg(s - t1) + Bo(s - tp) + P1o(s - t3) + B11(5 - tg) + Pra(s - t5)

Each extra term in the equation adds to the possibility you'll make a calculation error. The complexity
of the linear equation you need to work with will clearly be increased if you have > 2 levels of a grouping
factor. We consider just such a situation in our final example.

11.7.2. Individual covariates for non-binary classification variables

Here, we consider the analysis of a simulated data set with 3 levels of some grouping variable (we’ll
call the grouping variable colony, and the three levels ‘poor’, ‘fair’, and ‘good’, reflecting the impact of
some colony attribute on — say — apparent survival). The true model under which the simulated data
(contained in cjs3grp.inp) were generated is model {¢,,, p.} — additive survival differences among
the 3 colonies (in fact, additive, and ordinal, such that ¢, > ¢, > ¢, although this ordinal sequencing
isn’t of primary interest here). In the input file, the group columns (from left to right) indicate the poor,
fair and good colonies, respectively. For our model set, well fit the same models (structurally) that
we used for the dipper data used in the preceding example: {¢., p.}, {@; p.}, {9, p.}. Here are the
results for the analysis of the data formatted using the attribute grouping approach:

Model AlCc Delta AlCc AlCc Weight | Model Likelihood | Mo. Par. Deviance
{phifg+t)p() - DM} 21186.5257 0.0000 0.55007 1.0000 ] 1709553
{philgt)p() - DM} 211947161 77904 0.01993 0.0203 16 1627104
 {phifgpd.) - DM} 21256.8935 69.9678 0.00000 0.0000 4 2489325

As expected, model {¢,,; p.} has virtually all of the support in the data (it should, given that it was
the true model under which the data were simulated in the first place).

Now, let’s recast this analysis in terms of individual covariates. As noted in the preceding example,
we need to specify enough covariates to correctly specify group association. Your first thought might
be to use a single column, with (say) a covariate value of 1, 2 or 3 to indicate a particular colony. This
would work, but the model you'd be fitting would be one where you'd be constraining the estimates to
following a strict ordinal trend (this is strictly analogous to how you built trend models in Chapter 6).

Whatif we simply want to test for heterogeneity among colonies? This, of course, is the null hypothesis
of the standard analysis of variance. Since there are 3 colonies, then (perhaps not surprisingly) we need
2 columns of covariates to uniquely code for the different colonies. In effect, we're using exactly the same
logic in constructing the covariate columns as we would in constructing corresponding columns in the
design matrix. In fact, it is reasonable to describe what we're doing here — with individual covariates —
as ‘moving’ the basic linear structure out the of the design matrix, and coding it explicitly in the input
file itself.

We'll call the covariates c1 and c2. For dummy coding of the colonies, we’'ll let ‘1 0’ indicate the
first (poor) colony, ‘0 1’ indicate the second (fair) colony, and ‘1 1’ indicate the third (good) colony.

Chapter 11. Individual covariates



11.7.2. Individual covariates for non-binary classification variables 11-53

So, the encounter history ‘111011 1 @ @’ in the original file (indicating an individual from the poor
colony) would be recoded as ‘111011 1 1 ©’. Again, the first column after the encounter history after
recoding is the frequency column, and is a ‘1" for all individuals (regardless of which colony they're in).
The following two columns indicate values of the covariates c1 and c2, respectively. The reformatted
encounter histories are contained in csj3ind.inp.

Now, when we specify the data type in MARK, we set the number of individual covariates to 2, and
label them as c1 and c2, respectively. The design matrix corresponding to the most general model in
the candidate model set {¢,.; p.} is shown below:

I Design Matrix Specification: Live Recaptures (CJS)

>l @ o @ ML A

Design Matrix Specification (B = Beta)

Column 1 is the intercept, columns 2-3 are the covariates c1 and c2 (respectively), columns 4 — 7
are the time intervals (6 occasions, 5 intervals), columns 8 — 12 and 13 — 17 are the interactions
of the covariates c1 and c2 with time, respectively. Column 18 is the constant encounter probability.
Go ahead and fit this model to the data — notice immediately how much longer it takes MARK to do
the numerical estimation (again, one of the penalties in using the individual covariate approach is the
increased computation time required).

Here are the results for our candidate model set:

Be =0l B o =& 5] OA
Model AlCe Delta AlCe AlCe Weight Maodel Likelihood | Mo. Par. Deviance
{philg=tlp( )} -ind cov} 21186.9257 0.0000 0.58007 1.0000 Bl 21170.9130
{philgt)p( )} -ind cov} 21154.7181 7.7904 0.019593 0.0203 16| 21162.6680
Ié{phi(gbl:.)} -ind cov} 21256.8935 £9.9678 0.00000 0.0000 4| 21248.8300

If you compared these results with those shown on the preceding page (generated using group
attributes rather than individual covariates), you'll see they are identical (again, the differences among the
model deviances are identical, even if the individual model deviances are not). Again, using individual
covariates in this case seems like a reasonable ‘time-savings’ strategy, since the number of PIMs, and
the complexity of the general design matrix, is considerably reduced relative to what you'd face if you
worked directly with attribute groups in the ‘standard” way.

However, as noted in our discussion of the preceding dipper analysis, there are other potential ‘costs’
which might temper your enthusiasm for using the individual covariate approach to coding ‘attribute
groups’. First, you'll need to handle reconstituting parameter estimates from what might potentially
be pretty sizeable linear model (for our present example, it’s sufficiently sizeable — 15 terms — that we
won’t write it out in full here). Second, you (instead of MARK) would have to handle the accompanying
calculation of SE of the reconstituted estimates (using the Delta method — Appendix B).

However, while this is possible (albeit somewhat time consuming), what is not possible is the
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derivation of the SE for the effect size (see Chapter 6 — section 6.12) for the difference between levels of
a discrete “attribute variable’ when you've coded the ‘attribute variable’ using an individual covariate
(e.g., ‘sex” — see section 11.7; the dipper example in subsection 11.7.1). Calculation of the SE for the
‘effect size’ (i.e., the difference between the estimates for different levels of the ‘attribute variable’)
requires an estimate of the variance-covariance matrix between estimates for the different attribute
levels, which is not estimable when using the individual covariate approach. Finally, generating model
averaged parameter estimates from models with individual covariates is decidedly more complicated
(as discussed in the next section) than for models without individual covariates.

So, while there is a clear “up-front savings’ in terms of simpler PIMs, and simpler design matrices,
when using the individual covariate approach to handling attribute groups, the ‘after-the-fact cost’” of
the number of things you'll need to do by hand (or, more typically, program into some spreadsheet)
to generate parameter estimates is not insubstantial, and may be more than the hassle of dealing with
lots of PIMs and big, ugly design matrices. An alternative to using individual covariates to simplify
model-building is to use the RMark package (see Appendix C).

11.8. Model averaging and individual covariates

In chapter 4 we introduced the important topic of model averaging. If you don’t remember the details,
or the motivation, it might be a good idea to re-read the relevant sections. In a nutshell, the idea behind
model averaging is pretty simple: there is uncertainty in our model set as to which model is “closest
to truth’. We quantify this uncertainty by means of normalized AIC weights — the greater the model
weight, the more support in the data for a given model in that particular model set. Thus, it seems
reasonable that any average parameter value must take this uncertainty into account. We do this by (in
effect) weighting the estimates over all models by the corresponding model weights (strictly analogous
to a weighted average that you're used to from elementary statistics).

For models with individual covariates, you might guess that the situation is a bit more complex. The
model averaging provides average parameter values over the models, but what you're often (perhaps
generally) most interested in with individual covariates is the ‘average survival probability for an
organism with a value of individual covariate XYZ'". For example, suppose you've done an analysis
of the relationship of body mass to survival, using individual body mass as a covariate in your analysis.
Some of your models may have body mass (mass) included, some may have mass, and mass” (as in the
first example in this chapter). What would report as the ‘average survival probability for an individual
with body mass X'?

Mechanically, what you would need to do, if doing it by hand, is take the reconstituted values of ¢ for
each model, for a given value of the covariate, then average them using the AIC weights as weighting
factors (for models without the covariate, the f for the covariate is, in fact, 0). This is fairly easy to do,
but a bit cumbersome by hand. Moreover, you have the problem of calculating the standard errors.

Fortunately, MARK has a couple of options to let you handle this ‘drudgery” automatically. Basically,
you can either (i) specify (‘define’) the value of the individual covariate, and model average for that
value or (ii) you can calculate (and plot) the value of the model-averaged parameter over a range of
covariate values, using the individual covariate plot capability.

Consider the following example — here we’ve simulated a new live encounter data set (indcov1_avg. inp,
8 occasions), where survival (¢) is a function of body mass, m (over the range 85-140 mass units). The
form of the relationship used in simulating the encounter data is shown in the figure at the top of the
next page.

We see that the relationship between survival and body mass is non-linear — there is a tendency
for survival to increase with mass, but at higher mass values the rate of change asymptotes. The data
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were simulated assuming no annual variation in the relationship between survival and mass, and no
temporal variation in the encounter probability.

We will startby building a candidate model set consisting of 3models: {¢. p.}, {¢,, p.},and{¢, > p.}.
What is important to note about this model set is that we have 2 models which we anticipate will get
some significant support in the data (models {¢,, p.}, and {¢,,, > p.}). We also have a model, {¢.p.},
which is notable because it does not contain the covariate. As we will discuss, this is an important
consideration — how does ‘model averaging” account for models without the individual covariate?

If we fit these 3 models to the data,

’*’: Results Browser: Live Recaptures (CJ5)

Bl=al kN @|zz| &8 oA @3l
Model AlCc Delta AlCc AlCc Weight Maodel Likelihood Mo. Par. Deviance -2Log(L)
{phi(mass)p(.)} 118929138 0.0000 0.72208 1.0000 3| 11886.9100 11886.9100
{phi(mass+mass"2)p()} 11894.8244 19106 027778 03847 4| 11886.8180 11886.8180
11910.1349 17.2211 0.00013 0.0002 2| 11906.1330 11906.1330

we see that there is relatively strong support for the model where survival is a linear function of mass,
{@. p.}, but there is non-negligible support for the non-linear model, {¢, 2 p.}.

Now, we might for some purposes want to know what the model-averaged survival probability is for
a particular mass —say, some value near the extremes of the range (a very light or very heavy individual),
or perhaps the mean value. MARK makes it very easy to do this. Simply build the models, each time
specifying whether you want MARK to provide real parameter estimates from either the first encounter
record, a user-defined set of values, or the mean of the covariates.

For purposes of demonstration, we’ll use a user-defined covariate value (which allows us to generate
a model-averaged estimate of survival for a covariate value we specify). Now, if you know you want to
do this before you run your models, then fine. Simply select the model you want to re-run, and then in
the ‘Setup Numerical Estimation Run’ window, simply check the ‘user-specific covariate values’
option box in the lower right-hand corner, as shown at the top of the next page.
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[ Set number of parameters

¥ Standardize Individual Covariates
Real Par. Estimates from Individual Covariates
™ First Encounter History Covariate Values

~ Mean Individual Covariate Values
¢ User-specified Covariate Values

Help Cancel Run | OKtoRun |

If you've checked the ‘user-specified covariate values’ radio button, once you click the ‘0K to
run’ button you'll then be presented with another small window asking you to enter the values of the
covariate(s) you want to generate real parameter estimates for.

But quite often, you may run your models using the default covariate value (the mean), and then
“after the fact’, decide you want to re-run the model, this time using a user-define covariate value. In
fact, MARK makes this quite easy do. Simply select ‘Run | Re-run models(s)’ from the main menu.

This will bring up the dialog window shown below:

;
# Select Models to Rerun from the Results Daizb_ [

iphifmassjp( )}
{phifmass+mass"“2)p( )}
iphi(Jp( )

[ Use Att. Opt. Method
V¥ Use estimates from existing models as starting values

v Specify individual covariate values to use for new models

Select Al | Clear Al Help Cancel | ok |

All of the models currently in the browser are shown in the main part of this window. You select the
models you want to re-run (typically, ‘Select all’).

Then, to specify individual covariate values to use for re-running the models, simply check that box,
as shown on the preceding page. When you click ‘0OK’, another window will pop up, asking you to enter
the value of the covariate you want to use — say, 85 for mass (m):

Specify Individual Covariate Values
Specify Individual Covariate Values for all models

mles

Chapter 11. Individual covariates



11.8. Model averaging and individual covariates 11-57

Now, all that remains is to run the model averaging routine. For this example, using m=85 as the value
of the covariate, model averaged survival value is

Apparent Survival Parameter (Phi) Group 1 Parameter 1

Model Weight Estimate Standard Error
{phi (mass)p(.)} 0.67479 0.5832772 0.0175797
{phi (mass+mass"2)p(.)} 0.32509 0.5654348 0.0300501
{phi(.)p(.)} 0.00012 0.6524177 0.0064614
Weighted Average 0.5774853 0.02168323
Unconditional SE 0.023929%

95% CI for Wgt. Awve. Est. (logit trans.) i=s 0.5300219 to 0.6235598

One conceptual issue to consider — body mass (m) was contained in 2 of 3 models in our candidate
model set. What about the third model, {¢. p.} which does not contain body mass? Well, clearly, if the
covariate for a particular covariate does not show up in a model, then the  estimate for that covariate
is 0, for that model. But, our interest is (typically) in model averaging real parameter estimates, not f
estimates.

So how does MARK average real estimates over models including those that do not include the
covariate? You can get a partial clue by looking back at the table of estimates used in the model averaging
(above). Note that the reported estimate for survival for model {¢, p. } is 0.6524177.

Where does this value come from? Simple — it is the estimate of survival you would get if you ignore
the mass covariate (which is implicit in the model, which does not include mass), which in effects is
equivalent to assuming that all individuals in the sample have the same mass —i.e., the average mass
for the sample. You can confirm this for yourself by re-running all the models, and changing the user-
specified model for mass. If you do this, you will see that the reported estimates of survival for models
{@.p.} and {¢,, p.} will change, since they both include mass as a term in the model. However, the
reported value for model {¢, p.} will not change.

While calculating model averaged survival for specific, user-defined values of the covariate (as above)
is straightforward, we're often most interested in evaluating (and visualizing) the model averaged
parameter (in this example, survival) over a range of the covariate (mass). This is quite easy to do
in MARK. Simply select ‘Output | Model Averaging | Individual Covariate Plot”:

Order [Du‘tpu‘t] Retrieve PIM  Design Run  Simulations Tests Adjustments W

Specific Model Output 3
Table of Model Results 3
Append

Append Subdirectory

Model Averaging 4 Real
Input Data Summary Derived

Input Data File Listing Individual Covariate Plot

R T

A dialog window nearly identical to the single model plot we considered earlier (section 11.5) is then
opened (top of the next page), and you select the real parameter you want to plot.
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Individual Covariate Plot

Model: Model Averaging

Title: |Mode| Averaging

Design Matrix Row:

Select Parameterto Plot

1:Phi -
2:Phi

3:Phi

4:Phi

5:Phi

6:Phi

7:Fhi

8p

Individual Covariate to Plot
_ Range of Individual Covariate to Plot
Minimum 75.000

Mepdmum 157314

|+ Estimates put into Excel

However, the design matrix entry now shows the names of the individual covariates available to
be plotted, because not all models in the results browser would normally use the same functional
relationship between the real parameter and the individual covariate that is to be plotted. For example,
some models with AIC, weight in the results browser might not have any relationship between the
covariate and the real parameter to be plotted, meaning a flat line results for this model. As with the
single model plot, you select from the second list box the individual covariate to be plotted, and the
range over which to plot the function. If there were other covariates included in one or more of the
models in the model set, all of these other individual covariates are listed with the values used when
they are included in the model for the real parameter being plotted.

For our present example, the plotted model averaged values (below) don't indicate much evidence
for any non-linearity in the relationship between survival and mass (in other words, this figure doesn't
look very similar to the true generating function used to generate the data used in this analysis — p. 45).
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However, this plot of model averaged values is entirely consistent with the previous observation
that the non-linear quadratic model in the candidate model set, {¢, . > p.}, did not receive appreciable
support in the data. In fact, the linear model, {¢,, p.}, had 2.6 times the support in the data as the
quadraticmodel - and this much stronger support for the linear model is reflected in the model averaged
estimates.

11.8.1. Careful! — traps to avoid when model averaging

In the process of building some of your candidate models, you may have changed the definition of some
of the PIMs with the ‘Change PIM Definition’ menu choice. For example, consider a multi-state model
(Chapter 10) — if the first transition probability from strata A is defined in some models as QDA_)A ,and
in other models as ybA_’B , and these real parameters are model averaged, the results may be incorrect.
Thus, be sure to check the model averaging results to verify that correct parameters were selected.

Another potential ‘gotcha” might arise if you want to use the ‘individual covariate plot’ for
modeling averaging, and if you've used different PIM structures for some of your models in your
candidate model set (rather than using the same PIM structure for all your models, using the design
matrix to construct reduced parameter models based on that PIM structure). For example, consider the
example presented at the start of this section, based on the simulated data in indcov_avgl.inp. Recall
that for these data, we fit the following 3 candidate models: {¢.p.},{¢, p.},and {@, 2 p.}.

However, what we didn’t discuss when we initially analyzed these data is what the underlying PIM
structure was. We noted that we assumed no temporal variation in ¢ or p. As such we could have used
either of the following PIMs and corresponding DM for (say) model {¢,, . >p.}:

’*’ Apparent Survival Parameter (Phi) Group 1 of Live Recaptures (CIS) A
Bla| & 4| i)
[+ 12 ] [4 s J& [7
2 3 4 5 6 7
[ 7 >
7
7
7
PIM Chart -
J/

which is entirely equivalent (in terms of fit to the data, and parameter estimation) to

/*’: Apparent Survival Parameter (Phi) Group 1 of Live Recaptures (CJ5) A
B@| & 4] ¥ G
I
[+ [+ T+ [+ [+ [
I IS T B
B s
1 1 1
1 1
.
J
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To illustrate the point, we'll refer to the first approach as being based on ‘t-PIN’ (say, for ‘time-based
PIM’), and the second approach being based on ‘simple PIM (no time-dependence in the PIM). We'll
use the time-based PIMs for models {¢. p.} and {¢,, p.}, and the ‘simple’ PIM for model {¢, . 2p.}.

As you can see from the browser (below), the results of fitting these models to the data are identical
to what we saw before, even though we have used a different underlying PIM structure for one of the
models:

Model AlCc Delta AlCc AlCc Weight Meodel Likelihood | No. Par. Deviance
{phi{m)p(.J} - +PIM} 118929138 0.0000 0.79626 1.0000 3| 11886.9100
{phi{mass+mass“2ip(J} - simple PIM} 11895.6414 27276 0.20359 0.2557 4| 11887.6350
{phi(Jp()} - t-PIM} 119101349 17.2211 0.00015 0.0002 2| 119061330

Make model {¢,, p.} active, by selecting it in the browser, and retrieving it. Recall that this model
was built with the time-based PIM.

Now, select ‘Output | Model averaging | Individual covariate plot’. You'll be presented with
the individual plot window (below):

[ - ™
Individual Covariate Plor R — —— [
s —

Model: Model Averaging

Title: IModeI Averaging

Design Matrix Row: m

Select Parameterto Plot

Individual Covariate to Plot
P Range of Individual Covariate to Plot

Minimum I 75.000
Maxdmum | 157.314

You'll see that you have 7 parameters for ¢ (labeled 1:Phi — 7:phi). Now, we ‘know’ that here, we
could select any of the 7 x:Phi, because our DM is set up to constrain them to be equivalent.

However, if instead we made model {¢, . >p.} active, then we see the following when we select
‘Output | Model averaging | Individual covariate plot’:

E o — ﬂ‘

i}
I el oyt P
—

Model: Model Averaging

Title: IModeI Averaging

Design Matrix Row: m

Select Parameterto Plot

Individual Covariate to Plot
P Range of Individual Covarate to Plot

Minimum 75.000

Masimum [~157 314
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Now, we see only 1 parameter for ¢, not 7, as above. Why? because we constructed model {¢,, . 2 p.}
using a ‘simple’” PIM structure for the underlying model.

Now, in this particular case, you'll end up with the same model averaged estimates regardless of
which model was “active’, but that may not always be the case (especially for complicated models where
the functional relationship between the covariate(s) and the parameter vary over time). So, the general
recommendation is to use a common PIM structure over all your models, and if you do want/need to
use a different PIM structure for some models in your model set, be careful when model averaging.

A final trap concerns individual covariates in particular. The user can specify the values of individual
covariates to be used to compute the real and derived parameter values. If different values of the
individual covariate are specified for different models to be model averaged, the results will be nonsense.

Thus, be sure to use the same individual covariate values in all models to be model averaged, e.g.,
the mean value. The real and derived estimates can be changed to use a different individual covariate
value with the ‘ReGenerate Real Derived Model(s)’ option in the results browser ‘Run’ menu.

11.8.2. Model averaging and environmental covariates

In chapter 6 (section 6.16), we considered model averaging across models where survival or some other
parameter was constrained to be a function of one or more ‘environmental covariates’. Our interest is
in coming up with a way to estimate the relationship between the parameter and the covariate (similar
to what was presented in the -sidebar- starting on p. 28 of this chapter), but averaged over multiple
models.

Asin Chapter 6, let’s consider, again, the full Dipper data set, where we hypothesize that the encounter
probability, p, might differ as a function of (i) the sex of the individual, (ii) the number of hours of
observation by investigators in the field, with (iii) the relationship between encounter probability and
hours of observation potentially differing between males and females.

Recall that our ‘fake’ observation hour covariates were:

Occasion 2 3 4 5 6 7
hours 12.1 6.03 9.1 14.7 18.02 12.12

Now, when we introduced this example earlier in this chapter, we fit only a single model to the data:
logit(p) = By + B,(SEX) + B5(HOURS) + B,(SEX.HOURS)

But, here, we acknowledge uncertainty in our candidate models, and will fit the following candidate
model set to our data:

model M; logit(p) = p; + B,(SEX) + B3(HOURS) + 3,(SEX.HOURS),
model M, logit(p) = p; + B,(SEX) + S;(HOURS),
model M; logit(p) = B, + B,(HOURS),
model M, logit(p) = p; + B,(SEX).
There are a couple of things to note. First, this is not intended to be an “exhaustive, well-thought-out’
candidate model set for these data. We're using these models to introduce some of the considerations for
model averaging. In particular, we're using this example where encounter probability is hypothesized

to be a function of a continuous environmental covariate, to force us to consider how — and what — we
model average when some models include the environmental covariate (HOURS), and some don't.
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Let’s fit these 4 candidate models (M; — M,) to the full Dipper data set, treating sex as a categorical,
group attribute variable. We'll build all of the models using a design matrix approach, using the
encounter data in ed.inp. Note that models M, — M, in the model set are all nested within the first
model, M;. For all 4 models, we’ll assume that apparent survival, ¢, varies over time, but not between
males and females.

The results of fitting our 4 candidate models to the full Dipper data are shown below:

Model AlCc Delta AlCc AlCc Weight Model Likelihood| Mo. Par Deviance
{phi(p(SEX)} 675.5036 0.0000 0.43880 1.0000 8 76.6812

{phit)p(HOUR)} 676.0272 05236 033773 07697 8 77.2047
{philfp(SEX+HOUR)} 6775253 20217 0.15968 03639 ] 76.6155
{phi(f)p(SEX+HOUR+SEX*HOUR)} 679.3608 3.8572 0.06378 01453 10 76.3535

We see from the AIC, weights that there is considerable model selection uncertainty. In fact, the
AAIC, values among all models is < 4.

Now, we want to fit the same candidate model set, but coding both SEX and HOURS as individual
covariates. Recall from p. 28 that we code each occasions covariate value as an individual covariate.
This requires reformatting the . INP data. Here are the top few lines of the reformatted . INP file (which
we’'ll call ed_cov.inp):

| I TS RS A SO ST SR BTSN
===== 1111110 1 1 12.1 .03 9.1 14.7 18.02 12.12 ;:
===== 1111000 1 1 12.1 .03 9.1 14.7 18.02 12.12
===== 1100000 1 1 12.1 .03 9.1 14.7 18.02 12.12
===== 1100000 1 1 12.1 .03 9.1 14.7 18.02 12.12
===== 1100000 1 1 12.1 6€.03 9.1 14.7 18.02 12.12
===== 1100000 1 1 12.1 .03 9.1 14.7 18.02 12.12
===== 1010000 1 1 12.17 .03 9.1 14.7 18.07 1217

The first 7 columns comprise the encounter history for the individual. Column 9 is the frequency
(1) for that individual. Column 11 is the coding for SEX, as an individual covariate (SEX=1, male, SEX=0,
female), and columns 13 — 42 list the environmental covariates (HOURS), coded as occasion-specific
individual covariates.

Now, that we’ve re-formatted our . INP file, let’s fit the same 4 candidate models. We'll refer to the sex
covariate as sex, and the environmental covariates as h1,h2,h3,h4,h5, and h6, corresponding to HOURS for
each encounter occasion:

Il

@[zz] &[5 A @|al

Model AlCc Delta AlCc AlCc Weight Model Likelihood | No. Par. Deviance
{phi(t}p(sex) - ind cov} 675.5036 0.0000 0.43880 1.0000 8 659.1583
{phi(tip(hours) — ind cov} 676.0272 05236 0.33773 0.7687 8 658.6818
{phi{t)p(zex+hours) — ind cov} 6775253 20217 0.159682 0.3639 9 659.0926
{phi(t}p(sex+hours+sex*hours) — ind cov} 679.3608 3.8572 0.06378 0.1453 10 658.8306

Compare these results with those shown in the browser at the top of this page. Note that the
reported deviances are quite different — because the underlying likelihood structures differ, depending
on whether or not you use individual covariates. However, even though the deviances differ, the relative
AIC differences, and so on, are identical. And, if we looked at the reconstituted parameter estimates,
we’d see they were also identical.
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OK, so we've just confirmed that our 4 candidate models built using the individual covariates
approach are ‘correct’, in that they match the models we built earlier, based on treating sex as a group
attribute variable, and entering the covariate values into the DM.

Now what? Well, now we can use the model averaging (and plotting capabilities) for individual
covariates in MARK, to generate model averaged estimates of the relationship between the parameter
(in this case, encounter probability, p), and the environmental covariate, HOURS.

In Chapter 6, we focussed on averaging over models for SEX=1 (males). Let’s try the same thing
here. Simply select ‘Output | Model Averaging | Individual Covariate Plot’. This will bring up
the model averaging window we’ve seen earlier in this chapter.

Have a look what happens if we click the first encounter probability (7 :p) and the first HOURS covariate
(h1):

P

.
Individual Covariate Plot [

Model: Model Averaging
Title: |I'u'|odel Awveraging - dippers
Design Matrix Row: sexh1 h2 h3 h4 h5 h6
Select Parameterto Plot
1:Phi T Individual Covariate to Plot
%SEI e L Range of Individual Covariate to Plot
:Phi _ -
4:Phi h2 Mirimurm 121
5:Phi )
&Phi e Madmum | 12.1
h5
P h&
Sp
10p Covariate Value
1p
12p 36X 0.4795591!
- h2 6.030000(
[ Estimates put into Excel hd 9100000
hd 14.700000
h3 18.020000
Help Cancel | OK I h& 12120000

On the right-hand side, we see the range of the individual covariate we want to plot (b1, corresponding
to encounter probability for sampling occasion 2, although it is not labeled as such). We’ll change this
range in a moment.

Below this are the other values of the covariates which will be ‘fixed” during the averaging and
plotting. Note that the SEX covariate is reported as 0.4795911. Where does this number come from?
Remember, we coded males using SEX = 1, and females as SEX = 0. If we had an equal number of males
and females in our sample, then the average coding for SEX would be 0.5. However, in our sample,
we have slightly more females than males, and the average for SEX is 0.4795911 (which, in fact, is the
sex-ratio for our sample).

Below the SEX covariate value are the values of the environmental covariate HOURS for each encounter
occasions (h2 = 6.03 for occasion 3, h3 = 9.10 for occasion 4, and so on...).
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To generate the plot we're after, we'll need to modify a few things (below). First, since we are focussing
on males (SEX = 1), we’ll change the value of the SEX covariate to 1. In addition, we’ll change the range
of the individual covariate hl we want to average over, and plot, from 12.1 — 12.1 to (say), 5 — 20.
Remember, it doesn’t matter which covariate you plot (p;, p,,...), so long as you select the correct
environmental covariate for that occasion (i.e., 7:p with h1, 8:p with h2, and so on...).

Design Matrix Row: sexh1 h2 h3 h4 h5 h6
Select Parameter to Plot
1-Phi T Individual Covarnate to Plot
%EEI e n Range of Individual Covariate to Plot
4;Ph: h2 Minimum |5
5:FPhi .
&:Phi Ei Mzdmum |30
l_p_ hs
3;p h&
10p Covariate Value
Tp
12p e 1
- h2 6.0300001
h3
Iv Estimates put into Excel 9.1000001
| hd 14.700000
h5 12.020000
Help Cancel | OK | h& 12 120000

Back in Chapter 6 (section 6.16), we hand-calculated model averaged estimates for male encounter
probability as function of HOURS of observation, and their associated confidence intervals, which when
plotted, looked like the following:
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How do the results from our ‘averaging over individual covariates’ compare? In fact, they are
essentially identical.” Here is the plot generated by MARK, which is a near-perfect match to the hand-
generated plot shown at the bottom of the previous page:
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If you look back at section 6.16 in Chapter 6, you'll see that doing the calculation(s) ‘by hand” was
a lot of work. Using the individual covariate model averaging capabilities in MARK, demonstrated in
this section, is much faster, and likely far less error-prone. The only really ‘trade-off” is that to use the
approach based on individual covariates, you need to re-format your . INP file such that everything in
your analysis is coded using individual covariates (all attribute grouping variables, all environmental
covariates, everything...). Depending on the scope of your data set, and the models you're fitting to
those data, this can also require a fair bit of work.

11.9. GOF Testing and individual covariates

Well, now that we’ve seen how easy it is to handle individual covariates, now for the good news/bad
news part of the chapter. The good news is that individual covariates offer significant potential for
explaining some of the differences among individuals, which, as we know (see Chapter 5), is one
potential source of lack of fit of the model to the data.

OK —now the bad news. At the moment, we don’t have a good method for testing fit of models with
individual covariates. If you try to run one of the GOF tests based on simulation or resampling — say,
the median-¢ — you'll be presented with a pop-up warning that ‘the median c-hat only works for models
without individual covariates’. The Fletcher-¢ isn’t even printed in the full output. And so on.

For the moment, the recommended approach is to perform GOF testing on the most general model

*

As discussed in Chapter 6, the back-transform of the model averaged value of logit(p) is not the same as the model averaged
value of the back-transforms of the individual estimates of  from each model. This difference reflects Jensen’s inequality. In
Chapter 6, the reported and plotted model averaged estimates for the encounter probability, and associated 95% CI, were based
on the model averaged value of logit(j7), while the values MARK uses for the individual covariate model averaging are based
on the model averaged value of the back-transforms of the individual estimates of p from each model. The difference between
the two is generally very small.
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that does not include the individual covariates, and use the ¢ value for this general model on all of the
other models, even those including individual covariates. If individual covariates will serve to reduce
(or at least explain) some of the variation, then this would imply that the ¢ from the general model
without the covariates is likely to be too high, and thus, the analysis using this ¢ will be 'somewhat

conservative’. So, keep this in mind...

begin sidebar

11-66

individual covariates and deviance plots

One approach to assessing the fit of a model to a particular set of data is to consider the deviance residual
plots. While this can prove useful —in particular, to assess lack of fit because the structure of the model
isnotappropriate given the data (e.g., TSM models — see Chapter 7), if you try this approach for models
with individual covariates, you'll quickly run into a problem.

For example, consider the deviance residual plot for the first example analysis presented in this
chapter (for model {¢_ p.}).

I Results Browser: Live Recaptures (CJS) E]@
>’1
24254
R
e
s
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, .
T  £ 23 X -
d po v o8 - e X S S, RO SE OO OO UV U U
u 3 3 e e S e 5ETE =
a e - - . - . v - * -
I o -
- - - - -
-—
-— -— -— — -—
—
—
-24.254
Close Encourter History

Clearly, something ‘strange’ is going on — we see fairly discrete ‘clusters’ of residuals, virtually all
below the 0.000 line. Obviously, this is quite different than any other residual plot we’ve seen so far.

Why the difference? In simple terms, the reason that the residual plots change so much when an
individual covariate is added is because the number of animals in each observation changes. Without
individual covariates, the data are summarized for each unique capture history, so that variation within
a history due to the individual covariate is lost. However, when the covariate is added into the model,
each animal (i.e., each encounter history, even if it is the same as another history) is plotted as a separate
point. The result is quite different, obviously. Without individual covariates, the binomial functions
are the sample size, so animals are “pooled’. With individual covariates, the number of animals is the
sample size, each resulting in a unique residual.

In other words, the deviance residual plots for models with individual covariates are not generally
interpretable.

end sidebar
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11.10. Summary

That’s it for Chapter 11! In this chapter, we looked at the basic mechanics of using MARK to fit models
where one or more parameters are constrained to be functions of individual covariates. Individual
covariates can be used with any of the models in MARK (notjust recapture models). This is a significant
increase in the flexibility of analyses you can execute with MARK.
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